GEN L NOTES:
(vALID FOR 20 GAGE GAJ Ri{ PANELS)

1. STORM PANEL SHOWN ON THIS PRCDU T EVALUATION DQCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
ACCORDANCE WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1820 OF THE ABOVE MENTIONED CODE,

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND

FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL

NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 7 THRU 12, 14, 15, 16, 19 & 20.
N ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10

SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO
TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 7 THRU 12, 14, 15, 16, 19 & 20.

STEEL STtk

IN ORDER TO VERIFY THAT ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN ALLOWABLE
STRESS FOR WIND LOADS WAS NOT. USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN DETERMINED IN
ACCORDANCE WITH N.D.S. 2005,

STORM PANEL'S ADEQUACY FOR IMPACT AND WIND RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626 OF
THE ABOVE MENTIONED CODE AS PER HURRICANE ENGINEERING & TESTING INC. REPORTS 96-569, 96-570 & 96-T30 AND
FENESTRATION TESTING LAB. INC., REPORTS #2032 & #2126 , AS PROTOCOLS TAS=—201, TAS—202 AND TAS-203.

AS WELL AS AMERICAN TEST LAB OF SOUTH FLORIDA REPORT #0219.01-09, AS PER TAS 201-94, TAS 202-94 AND

TAS 203-94 STANDARDS.

9. ALL ALUMINUM EXTRUSIONS TO BE 6063~T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED). SEE SHEET 2.
3. ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105-H14 ALLOY.

4. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A-653 GRADE 50 MINIMUM, G-60
CALVANIZED STEEL DESIGNATION W/FY= 585 ksi (AFTER ROLLED).

5. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER
DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE

SECTION 2411.3.3.4.

&. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AISI 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

7. ANCHORS TO WALL SHALL BE AS FOLLOWS:

(A) TO_EXISTING POURED CONCRETE: :
Z1/4"8 TAPCON ANCHORS AS MANUFACTURED BY LT.W. BUILDEX, INC. (Min. f'c=3192 p.s.i.)
~ 1/4" @ x 7/8" CALK—IN ANCHORS, AS MANUFACTURED BY POWERS FASTENERS INC. (MIN. f'e=3000 p.5.0.)
_ 1/4"% % 3/4" SOLID-SET ANCHORS, AS DISTRIBUTED BY ALL POINT SCREW, BOLT & SPECIALTY CO.

(Min. f'c=3000 p.s.i.)

~ #14—10 PANELMATE FEMALE ID & PANELMATE PLUS ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS.
(MIN. f'c=3350 p.s.i.)

—~ 1/4"¢ CF TAP—GRIP ANCHORS, AS MANUFACTURED BY TRU-FAST CORPORATION (f'c=3800 p.s.i.)

A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" 2" FOR PANELMATE FEMALE
ID AND PANEMALTE PLUS AND 1 1/4" FOR CF TAP-GRIP ANCHORS.

A.2) CALK—IN & SOLID~SET ANCHORS SHALL BE EMBEDDED 7/8" INTO THE POURED CONCRETE. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4” ¢—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST,
ND 1" MINIMUM FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS W/0 HEAD,
BUT WITH WING NUTS,

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, PAVERS, STUCCO OR WOOD BOARDS BE FOUND ON THE
CXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH

PANELS. ANCHORAGE SHALL BE AS MENTIONED IN A.1) AND IN A.2).

(B) IO EXISTING CONCRETE BLOCK WALL ASTM C-90:

~ 1/4" 8 TAPCON ANCHORS AS MANUFACTURED BY I. T. W. BUILDEX, INC.

~ 1/4" ¢ x 7/8" CALK—IN ANCHORS, AS MANUFACTURED BY POWERS FASTENERS INC. (MIN. f'c=1500 p.s.i.)

— 1/4"¢ X 3/4" SOLID-SET ANCHORS, AS DISTRIBUTED BY ALL POINT SCREW, BOLT & SPECIALTY CO.
(MIN. f'c=1800 p.s.i.)

— #1410 PANELMATE FEMALE 1D AND PANELMATE PLUS ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION
PRODUCTS (MIN, f'c=2071 p.s.i.)

— 1/4" ¢ CF TAP—CRIP ANCHORS, AS MANUFACTURED BY TRU-FAST CORPORATION

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ELCO PANELMATES AND CF TAP—GRIP ANCHOR, INTO THE CONCRETE
BLOCK UNIT SHALL BE 1 1/4"

B.3) IN CASE THAT PRECAST STOME, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BOARDS BE FOUND ON THE
EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS MENTIONED IN B.1) AND IN B.2).
(C) TO_EXISTING WOOD (MIN. SPECIFIC GRAVITY, G = 0.55 MiN.)%:
—~ 1/4"9 TAPCON ANCHORS, AS MANUFACTURED BY LT.W. BUILDEX, INC.
— #14—-10 PANELMATE FEMALE ID AND PANELMATE PLUS ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS,

- 1/4"8 LAG SCREWS PER N.D.S.
- 7/18"¢ x 5/8" WOOD BUSHING, AS DISTRIBUTED BY ALL PCINT SCREW, BOLT & SPECIALTY CO.

ALL BE 1 1/2" AND 2" FOR ELCO PANELMATE PLUS

€.1) MINIMUM THREADED PENETRATION INTO WOOD OF TAPCON ANCHORS SH
AND PANELMALE FEMALE ID.

C.2) MINIMUM THREADED PENETRATION OF LAG SCREW, INTO THE WOOD FRAME UNIT SHALL BE 1 1/2". NO THREADED
PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION.

C.3) MINIMUM EDGE DISTANCE OF LAG SCREWS, INTO WOOD SHALL BE AS INDICATED IN THIS DRAWING

C.4) MINIMUM PENETRATION OF WOOD BUSHING SHALL BE 5/8". 1/4" ~20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM

SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

C.5) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BOARDS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TQ REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS MENTIONED IN C.1), C.2) & C.4)

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.
8. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTION 3 THROUGH 10 (SHEETS 4

THROUGH 6) EXCEPT THAT HEADERS @ & () SHALL NOT BE USED.

9. |T SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME

BUILDINGS.

10. FACH REGULAR STORM PANEL WITH LENGTHS OVER 8'-8 THROUGH 12'—4" AS PER SECTIONS 6, 8, 9 & 10 AND ALTERNATIVES 8W,
OW & 10W ON SHEETS 5, 6 & 12 RESPECTIVELY; SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR

TENANT TO SEGURE PANELS WITH APPLICABLE REINFORCEMENT DURING PERIODS OF HURRICANE WARNING.

11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH
THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

12. STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS

PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

13. {a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION
FOR A SITE SPECIFIC PROJECT; ie. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT
BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS  DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE

ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE
PROPER USE OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE
P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

{e) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

14, SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM
PANEL SHUTTER IN ACCORDANCE WITH SECTION 1715.8.3 OF FLORIDA BUILDING CODE. ONE LABEL
SHALL BE PLACED FOR EVERY OPENING. LABELING TO COMPLY WITH SECTION 1715.8.2 OF THE

FLORIDA ’B'QU.BU\IG CODE.

o’ T‘L’Z’””'.
"" QP\' ITJ ’o$
M'? Y FLORIDA BUILDING CODE (igh Velocity Hurricane Zone)
a1 1 G017 TLTECO, NE: 20 GAGE GALVANIZED STEEL STORM PANEL | MCV/RE/MG

12/05/11

GLOBAL PROTECTION PRODUCTS, LLC. o

4800 S.W. 51 STREET

Légc@m\

8.2) CALK—IN & SOLID-SET ANCHORS SHALL BE EMBEDDED 7/8” INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT ey AN, o ¥ azar e
"o n < s K TING & ENGINEE, COMPAN 2 Pl -
INTO STUCCO SHALL BE PERMITTED. 1/4" -20 SCREWS USED SHALL BE 1 1/27 LONG MINIMUM SHOULD STUCCO 1 { FL ;\ NS LT TS T N e taspevs, i 33168 FHONE: (954)689~7545, FAX: (954)689-8797 11-213
EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO. = é‘ RV Frens + (309 87,;;5;‘)00.;;;5 o) S HEV. BESCRISTION BAIE_| RV, Mo DESCRIPTION BATE DRAWING No
’—W Sos 7 _ . ZSCR
L THRE/WATRY WALTER A. TRLT Jr, P.E. : Y PR - -
ey 848? 6% ﬁ’ ,,#5 FLORIDA Lie. # 4;?67 2 - - 4 - ——|SHEET 1 OF 2§
T




COMPONENTS FOR REGULAR & LIFE SAFETY STORM PANELS

T(SCALE 1/2=1")

15.196" (TOTAL WIDTH)

15.196" (TOTAL WIDTH)
12.500" (EFFECTIVE WIDTH) — i
l 6.250" ‘
| |
. ""*‘] 3

1.350" 500
r T 0.036" MIN. THICK  =—1.350"—1 4% >

g 1/4"

GALVANIZED STEEL

;—~—1.3;50“—-1 V4 >

N\ e - ASTM A-853 e "
| / 250 A 250
0.036" MIN. THICK HEMMED J (GRADE 50 MINIMUM C P
GALVANIZED STEEL EDGE . / G-B0 GALV. EDGE - //
ASTM A—653 i . T
GRADE 50 MINIMUM DETAIL A ] N DETAIL A_f
G—60 GALV. !
, L L DETAIL A y o 8
L3507~ L? ] !
6.250" | 1
() STORM_PANEL @
- 2.187"
| 74— 30°
‘ S 250" " 2.187"
PANEL'S END LIP | Lo 00" RO, 405" S e /48720, | /4"-20, 128"
77 HEMMED EDGE. ™ " 1. : 250" —=1 /0" 304 SERIES 304 SERIES
W/ HEMMED EDGE. ™ | N _AL100 2 0. ! I 1257 | 5.5, STUD RWETED 8.5, STUD RWETED |
| 250" j“’—-”’ T TO ANGLE @ TO ANGLE @ ™ ‘
., N 12 1/2" 0.C. 12 1/2" o.C. “a
v £0.08 , 093"~ | A P ]
3 3.375 . ' “ 1 500" B £ 2 1,500"
: 093 2 1b5" 2.000 . X ,
AN - - ] ~ | SEE 339 939
£.950" 9 195" 0937 DETAL 1§ o | ,
' RO 375 125 125" g
HEMMED L | f {
B .37515 Li .250 i 1;1 25" L ,«‘ L J
e 1.500" 1.500"
: \ L— . ' / FULL R. g
ISOMETRIC VIEW DETAIL A / .30 & 2.000" et
ROUNDED CORNER @ ENDS OF PANEL'S AT R
END LIP W/ HEMMED EDGE. )
= 2) “h" HEADER
| VARIES
j SEE DET,
- L & 2/14’ 374"
gt /14 @.344" : 374" . "
: TYP. TOP EDGE == .098" : 086’ .750
Yy " I o ™ "
— ;.390 | OF PANEL 1885 I asgth - | 010 j 1 /4%0=20, 304 SERIES
- __1_! 1, ‘__1-—1—4 . I S's. STUD RIVETED TO
1,407"1.083 s 505" o 270" .656 640 ANGLE @ 12 1/2" o.C.
{ 390" 1.671" [~ 16717 1~ w (i
4 : 1.343" |} R.062" ' 20, 1.500" [ty @‘j
| 5/16"8 HOLE FOR } o | DRV 85, 1.015" .
STUD LOCATION AT ; + =R.125" B '
EVERY PANEL OVERLAP 957" N S 080" I
t = Min. .085 H 084"
be——2,000"— -
TYP.
7.000" - )
9 o 83 83 9B pwlP
- F"_TRACK ANGLE 3/87 "F” TRACK
0.036" (Min) 094"
GALVANIZED STEEL po _
Min. 15" LONG
L Tanr Lo ’
375" -++M 438"0 875”0 1,
- & e b TILLIT o,
N | P WA e, Y FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
4 ! TYP. BOTTOM e
063" ZAMAC NICKEL y %, @2011 TILTECO, INC. CV./RE/AG.
B oo 63 - 1 el BLATED WiING NUT EDGE OF PANEL S ¥ 20 GAGE GALVANIZED STEEL STORM PANEL MC/RE /A
. Y ® _ N
- ey '4 by
le——2.000"—= ﬁ w“‘-“«i\i 12/08/11
Yoe 8 }ﬂ, E ECO CLOBAL PROTECTION PRODUCTS, LLC. DATE:
2°%7"¥1 /4" ' N ic. 4800 SW. 51 STREET
. T - ] ALTERNATIVELY, USE WING NUT w/ouT 3 Q \\ FILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11-21 3
X U B B A Egé WMONOLITHIC WASHER W/ ADDITIONAL N 6355 N.W. S6th. St. Ste, JO5, VIRGINIA GARDENS, f1. 33166 PHONE: (954)689-7545, FAX; (954)689-8797
% et 3 3 ¢ ) \) Fhone + (305) B71-1530 . Fax @ {305) 871-1531 DRAWING No:
« 7/8"6x3/32" WASHER (STAINLESS FB~0008719 REV. No BESCRIETION DATE | REV. No DESCRIPTION DATE o
STEEL OR NICKEL PLATED STEEL). WALTER A. TLLIT Jr., P.E. ! oup 0s-237 112/05/11] 3 t Zd SHEET 2. OF 26
FLORIDA Lic. £ 441567 2 ~ ~ 4 = =
7T LA




1/4, 2/4, 3/4, 4/4, 5/5, 7/5,

Iy 1W/10, 2W/10, 3W/10, 4W/10, Py/s
PEw /10, 6W/11 & TW/11 /

3" MAX ANCHORS: FOR CONCRETE SEE SCHEDULE ON SHEETS 8 & 9 3" MAX
rr‘ MiN. FOR WOOD SEE SECTIONS ON SHEETS 10 & 11 1 MIN.]

+
-8
b=
-
1

_ !
1

1
i
1

I

i
i
i

1
-
1

i
-1
|

§
-
i

{

I
——
|

§

i

1

i

|
-
1

i
-
|

1

|
-1
i
.
-

]

I

|
!
|
1
§

|

I
~
\1\
1

I

|
-
i

i
T
|

i
P
{

i
—d
i

1

|
e
|

|
—d
1

T

i
—
~—
_

=

&—-——J*-"‘"“’MJ’ Nl
< Gt - b e T T e T i —
UNBOLTED PANELS p\\i N BOLTED PANELS W/ 1/48—20x1
(SEE SECTIONS AS : _lss. wms. BoT w/ 7/8" x 3/32"
NPPLCABLE) WINGNUTS @ EA. OVERLAP
(SEE SECTIONS AS APPLICABLE)

=

/ N
| EQ

MAX. PANEL LENGTH "L” (SEE SCHEDULE ON SHEET 8)

| 1/4, 2/4, 3/4, 4/4, 5/5, 7/5,
L, 1W/10, 2W/10, 3W/10, 4W/10,
5W/10, 6W/11 & 7W/11

ANCHORS: FOR CONCRETE SEE SCHEDULE ON SHEETS 8 & 9
FOR WOOD SEE SECTIONS ON SHEETS 10 & 11

REGULAR STORM PANELS (1) & GA) ELEVATION

N.T.S.

2.67"
(MIN. OVERLAP =1 WHOLE VALLEY)

| "
/m\u T /N N\

’,tllllh’y,”’

“,w’\%%ﬁ ATl (:j"o,...

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

.........

@2011 TILTECO, INC. M.CV./RE./AG.
20 GAGE GALVANIZED STEEL STORM PANEL N/RES
d -y 12/05/11
- N EE&.EE o CLOBAL PROTECTION PRODUCTS, LLC. OATE:
3 Y .’{ N IRE. 4800 SW, 51 STREET
- 0 ° S ATE F Q- N TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 333}4 . 11-213
o) A N 6355 N.W. J6th. St. Ste. 305, VIRGINIA GARDENS, Fi. 33166 PHONE: (954)683-7545, FAX: (854)689-8797
- ., Phone ; (305) 871-1530 . Fox : (305) 871-1531 - ORAWING Not
5 EB-0006719 REV. Ko DESCRIPTION DATE REV. No DESCRIPTION BATE
WALTER A. TILLIT Jr., P.E. 2 ow 08-237 Nh2/08/t1l 3 - -
FLORIDA Lic. # 24187 2 = . 7 — | SHEET 3 OF 26




INSTALLATION DETAILS FOR REGULAR PANELS (D & (A
INTO_EXISTING POURED CONCRETE OR CONCRETE BLOCK STRUCTURES  concrere acros

(SEE SCHEDULE ON

CONCRETE ANCHORS

] SHEETS & THROUGH 8)
(SEE SCHEDULE ON NN 2 AN
CONCRETE ANCHORS SHEETS 8 THROUGH 8) N CONCRETE ANCHORS AN EXISTING POURED __ 4
(SEE SCHEDULE ON N NN (SEE SCHEDULE ON N CONCRETE REQUIRED
SHEETS 8 THROUGH 9) | NN/ | EXISTING POURED - N SHEETS 8 THROUGH 9) N s T NN , i\ //4-"7¢/—82n0x§§§"2 53, BOLTS
L 230h CONCRETE REQUIRE—D—'J T N \\ " = 1" Min. NN i NUT OR % N
b NN ) L ok : \ IR TRNN 1872 e . i #10x3/4
N /2 AT V a3 Y PR = SNs. 88" 0L,
‘\\ T O | i ToNuT OR #10x3/4" NN
N7 ! ‘ i M N e N .
o NN OO
ES N : ! T N Ve o I =
EXISTNG POURED  E.D. N L | | Lo @ b W | | @ 1 N T %
CONCRETE N [ | ! 1 o D N ; @ N . =
REQUIRED. NN | = | i I £ EXISTING POURED W [~ © N o
\i , L © | , LN W CONCRETE REQUIRED. N ! : b N ] \;\ =
\~\\z\ 8 \ 3 U ant. A . \ . " 5" T+ . \:«« 7 8n¢ 3 2"
AN \\\‘\‘s‘ Lo | } ! Lo NN NN | | o re O NN ! R A e oz
i : { : & | SEE SCHEDULE i { " & ) l\ W I I | evirr st e 3 ' SO | I | ewryswoe ©
1 ! | = | ONSHEET & i | | W | | ! Il 12 172" oc. " | i | b o121/270c
SEE SCHEDULE | | i 5 lroa Min. SEPARATION | i = | { | = | i ! ! 5
ON SHEET 8 T GLASS. i a [ | I a SEE SCHEDULE | I &
FOR Min. SEPARATION (™ ! | w | | | | 3 SEE SCHEDULE | | 2 ON SHEET 8 I | L
| TO GLASS. | | [ ) | | | i T ON SHEET 8 i | T FOR Min. SEPARATION | i i 5
EXISTING __ | I | 1 a EXISTING __| i | i [ |FOR Win. SEPARATION | i | TO GLASS. ?
GLASS ) U N L oL GLASS T A A ; TO GLASS, | | I u ‘ } } | w
A S 7 — R n EXISTING__| : '1 § & EXISTING | i | &
i i | i W | | i i L GLASS [ /3 | ! ! - GLASS L A s P ~
P | ! & ! | P T — , — = — £
| ! ! - ! i ! | 5 | | I | z I Q
[ A T ! | . z | T = x £
; L 5 | L 4 | b o !
| : : : Z : i I 2 | =1 : | z ! o
o 7 - ‘ b = = ' = S | 7/8ex3/32" & . < Z
A { b o : ! ! K SRR | bTwenre NN a
| | = | | Il 7/8"9x3/32 . N | EVERY sSTUD @ & 7/8"0x3/32" o
| b = l i /T JwNnenTe X N ooy 1212 o TTWING NUT © g
EXISTING POURED | E.D ar 0 : } ! B o = N . n EVERY STUD & =
CONCRETE OR i 748 0x3/32 2 | oy EXISTING POURED |  E N l P t ggﬁg‘gg{%%ﬁw £.D. 12 1/2" 0C. %,
CONCRETE BLOCK Al EVERY STUD @ . I : CONCRETE OR N 1 1 CONGRETE BLOCK
SEQUIRED. v AN N ! CONCRETE BLOCK N ; REQUIRED. !
_.w% i : REQUIRED. Nif/2°
939" 7 18N NVANNAN\ LT SHE
EXISTING POURED 1" Min,be—
! N N
= CONCRETE i /4 \\_\%‘i@ o <ias /ﬂ\\ 1/4"6-20 S.S, BOLTS N .
REQUIRED. { £ (Alt. CONDITION) kR \ \}/'77(”/?3%33'/332?0@&53
CONCRETE ANI'CHORS AR com, on (7 CONCRETE ANCHORS / £.D. N CONCRETE ANGHORS NN SMS. @ 6 0.C, CONCRETE ANCHORS NN NOT OR #10x3/4"
STAGGERED W/ STUD ont., Cont, (SEE SCHEDULE ON (SEE SCHEDULE ON NN Cont. (SEE SCHEDULE ON SN Cert. SM.S. @ 6" 0L
(SEE SCHEDULE ON SHEETS 8 THROUGH 9) AN SHEETS 8 THROUGH 9) SHEETS & THROUGH 9)

SHEETS 8 THROUGH 8)

BUILD OUT MOUNTING

"SCALE 3/8=1" SCALE 3/8=1"

OUNTING
ION 1

WA
S

Fg

SCALE 3/8=1"
! & E.D. = EDGE DISTANCE
! sgi %%?E?UEE e[ (SEE SCHEDULE ON
““*;FOR Min. SEPARATION 2l& SHEETS 8 & 9)
| E
| 2l
7/B'9x3/32"  “\3 .
| ?V{WG X3 o 3 g NOTE FOR_COMBINATION OF SECTIONS:
ERY STUD @ =13
! . /3 12 1/2°0¢ 4 TOP & BOTTOM MOUNTINGS CAN BE
| Cont.  Foim a COMBINED IN ANY WAY TO SUIT ANY
i RN INSTALLATION.
i L 7 | 5
N j\\ﬂ{g\\\\\\\\\&\\ N FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
- i
e URERL Is/aT ] 2017 THTECO, INC: 20 GAGE GALVANIZED STEEL STORM PANEL | MGY/RE/AC
REQUIRED. .
_CONCRETE ANCHORS 12/08/11
(SEE SCHEDULE ON 3 E L%E GLOBAL PROTECTION PRODUCTS, LLC. DATE:
SHEETS 8 THROUGH 9) E C O ne. 4800 SW. 51 STREET
7 T ENG, ; DAVIE, FL. 33314
CEL ), URTIRG 7 o555 T o s on R aepev, B S PHONE: (954)689~7545, FAX: (954)889-8787 11-213
s Prone : (305} 871-1530 . Fax : (305) 871~1531 DRAWING No:
ECT f T ST ST SDATE £B-0006719 Y. He DESCRIETION DATE | RV, Mo DESCRIETION DATE :
CALE 3/8= - W%TO%D%&U}; I, BE : o o237 Y2 - T ISHEET 4 OF 26




INSTALLATI

P

PLUS OR CF TAP-GRIP
(SEE SCHEDULES ON
SHEETS 8 & 9)

ON_DETAILS FOR REGULAR PANELS (D) & (A

(SEE SCHEDULE

SHEETS 8 THROUGH 9)

anN

CALK—IN OR PANELMATE FEMALE 1D, N /4 0-2013/4" S,
T PANELMATE PLUS OR CF TAP-GRIP fggfgﬁéﬁfg%ﬁ \\§ @%%SNYJV/ 7/8 ¢“ 32" 1
(SEE SCHEDULE ON SHEET 8 & 9) SHEETS 8 THROUGH 9) \\\ Y 1"
. :\§ Min. |
] ~r 12
N 1 .
T § i ' ; : N 1/4" Max
EXISTING POURED | N | P T
CONCRETE E.D. N i | !
REQUIRED. \ Cont. I [ F.
: N R
. NS Cont.
SANVINANNN I A )\
ANUNN -
(:3) f | | |
AR N 5 l i | | ]
AR 5 exisTinG POURED | | T z
7 L CONCRETE OR I 1 | i 5
| 1 CONCRETE BLOCK | | i | >
{ Z REQUIRED. ! i [ 5]
| o I | | | "
! o ! i P =
i A 2 1 A { o n
— /- s — ] ”
i W/ Nt (51EVSRY L EXIS [ i ! | ]
i | OVERLAR & AT L EXISTING o | P i
e SEIEE | L 2
GLA ' T
r \\/\C ; : SECTION 6 ONLY. § : SEE SCHEDULE : : : |}
z | ON SHEET 8 Z
SEE SCHEDULE } : 5 { FOR Min. SEPAR‘ATIONW: : : ™
ON SHEET 8 | TO GLASS. ; . 1 B
lmR Min. SEPARATION(T™ | f o o
TO GLASS. ! | I = | i ! f z
| o : | e :
I ' ! ' : 7/8"x3/32"__| :
z | oo % ' N Lo 5
7% o 2 | EVERY STUD L =
' f f : . @ 12 1/2" oc| P .
| o 7 P o
P : ” ( ey I }
EXISTING POURED E.D. ] | | | !
| / o
CONCRETE BLOCK
REQUIRED. [ EXISTING POURED L
__/ | | CONCRETE OR 7 ) 1 !
. —| I CONCRETE BLOCK + e = et 55,
" H
: 7 l| Jl REQUIRED. -é% 1/2 [ [BoLrs w/ 7/8] ¢x3/32
CALK~IN OR PANELMATE -7 {3 4 —j WING NUT ®@ 6" 0.C
FEMALE 1D AND ANELMATE CONCRETE ANCHORS 1" Min.;
7
Y

" SCALE 3/8=1"

EDGE OF EXISTING s

/ OPENNING

EXISTING STUCCO/

/7 W0O0D BAND
# NEW 1" WIDE x VARIES x 1/8"

ALUM. TUBE OR 1" x VARIES
P.T. WOOD PLATE SPACER

s REHIND TRACK
ey
W[ 0
.

@

TRACK
"Cont.

NEW 1"

THICK ALUM. TUBE OR 1" x
P.T. WOOD PLATE SPACER

WIDE x VARIES x 1/8"

"SCALE 3/8=1"

— EDGE DISTANCE

(SEE SCHEDULE ON
SHEETS 8 & 9)

END CLOSURES DETAILS FOR INSTALLATION |N POURED CONCRETE,

CONCRETE BLOCK OR WOOD
ETY AND E-7 HANG STORM PANEL

POURED COMCRETE, CONCRETE
SLOCK OR 2"x4" WOOD FRAME

REQUIRED

OR
CUT PANEL

1/4-6 x 1 3/4
APCON ANCH/OR

8083-T8 ALLOY
CONT. ALUM. ANGLE

FOURED CONCRETE,
CONCRETE BLOCK OR
2"x4"” WOOD FRAME
REQUIRED

IALTERNATE LEG LOCATION

2" % 2" x 055" 10
2" x 8" ¥ .D&5" CONT.
ALUM. ANGLE OR

080" 3105-H164 SHEET }
METAL ALUM. BENT PLATE

OR@ e

1/4"
Max. GAP

SCALE 3/16=1

POURED CONCRETE,
L CONCRETE BLOCK OR
2'x4” WOOD FRAME
\%\ REQUIRED

Y

1.5X
’—«-(MIN. PANEL OVERLAP BEYOND -~
OPENING WIDTH)

B0, = X

NOTE_FOR_COMBINATION OF SECTIONS

7
7
,/
CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEETS 8 THROUGH 9)
Ly
CoZ

7

EXISTING POURED /

COMBINED IN ANY WAY TO SUIT ;\m’m,,,
INSTALLATION.

SCALE 3/16=1

n LTRACK Cont.
8 !;’

# AX. SPACER LENGTH IS 6",

|
|
|
|
| TOP & BOTTOM MOUNTINGS CAN BE
|
|
|
|

AN &m\\\\\\\\\

POURED CONCRETE,
CONCRETE BLOCK OR
24" WOOD FRAME

REQUIRED

POURED CONCRETE,
CONCRETE BLOCK
OR 2"¢4" WOOD
FRAME REDUIRED

VARIES
3" Max.

W/JACKNUT

CASE

SCALE 3/1 6=1"

2" x 3

POURED CONCRETE, CONCRETE

_L

1/4" @ BOL_T_‘
@ 24" 0.C.

% 093" 3105 H-14 _OR
6063—T6 ALLOY CONT. ALUM.
ANGLE WITH 1/4%¢ x 1 3/4°
TAPCON @ 12" 0.C.

Dt

: _._..E

072
3105-(—(14 OR 6063—'1’6 ALLOY
Cont. Alurn. ANGLE

BLOCK OR 2x4” WOOD FRAME
REGUIRED

EXISTING TRiM AT
TOP, BOTTOM OR
SIDES OF OPENING
AS APPLICABLE

SCALE 3/16=1"

CALK—IN OR PANELMATE
FEMAL,E 1D AND PANELMATE
FLUS (SEE SCHEDULES OM
SHEETS & & 9)

A 3/ To=1"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

BENT W/ ANCHORED FRONT &
REAR FLAT FLANGES PARALLEL TO
WALL (NEVER CUT END PANEL)

@2011 TILTECO, INC.

®
CONCRETE ANCHORS —-———L-—-—-—-

1 1/2" Min.

(SEE SCHEDULE
ON SHEET 8 & 9) 3"

b

Max,

CONCRETE OR Z,

MIN. SPACER HEIGHT TO BE
EQUAL OR GREATER THAN

CONCRETE BLOCK
REQUIRED. 7

TRACK'S HEIGHT.

SECTION X-—=X

SCALE 3/8=1"

-
=Y
.

=SSR O

/ HLIEC O . \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Sle. 305, VIRGINIA GARDENS, Fl. 33168
Fhone : (305} B71-1530 . Fox : (305) 871~153)
EB-0006719
WALTER A, TILLIT Jr., P.E.

FLORIDA Lic. # 44167
Al S

M.C;V'/R‘E./A.C.

20 GAGE GALVANIZED STEEL STORM PANEL DRAWN BY:

12/05/11

GCLOBAL PROTECTION PRODUCTS, LLC. DATE:
4800 jS:WFLs 13§§$EET
i

PHONE: (954)68@ 7548, FAX: (954)680-8797 11-213

RV, to BESCRIFTION bAte | Fev. R DESORIPTION OATE DRAWING Not
£ o 08337 M2/l 2 = ZJSHEET 5 OF 26

LTI TT L



INSTALLATION DETAILS FOR REGULAR PANELS (1) & (A

INTO_EXISTING POURED CONCRETE OR CONCRETE BLOCK STRUCTURES

 ANCHORS: FOR CONCRETE SEE SCHEDULE ON SHEET 9
POURED CONCRETE PQURED CONCRETE POURED CONCRETE FOR WOOD SEE SECTIONS ON SHEET 12
SEOSONCRETE BLOCK OR CONCRETE BLOCK OR CONCRETE BLOCK 3 Max 267" 3" Max.
REQUIRED REQUIRED REQUIRED oo : 1M
17 Min. = in.
(CSC’ET_:CF;":CEESSSE’*%%S CONCRETE ANCHORS CONCRETE ANCHORS | M (MIN. OVERLAP =1_WHOLE VALLEY) 9.{;3) 80/12, /12 ale
. (SEE SCHEDULE ON (SEE SCHEDULE ON r D84, AO 108/12
SHEET 9) , SHEET 9) SHEET 9) [ :
g N @ |8 ] | @ ® ® | |1® f [ !
g N
] | I G R s SINEIAE RN
JRAENNN i | o | ] — L3S I b | | |
— = | : | | : NN | ! |
| ! ! | ! ! N B ! | | I |
oo b N [ I | 50%
o | | | j N [ I | f oF "L L
D L R = N Le | | | R T
D, ] L LA |
: : : : J\ : x : i ! *“‘$“ ! T T T l T T [ '\/\———“ EZE LEJ;
N NN oo ! \ ! ! ' . SN ' |1/4"@-20x1" L 5x
LAY NN A | AW b AR - ! i 5., BOLTS W/ { /W%/” =9
] | | | 1 i | | | | | | 7/8% x 3/32" '\ 1] | d%
1 Min. SEPARATION : : } l Min. SEPARATION TO : 5 ‘ ! Min. SEPARATION TO : 1\ : ' g"\é% Né” o BVERY & T ' Z
in. ol in. o in. ot e T
L__ T0 CLASS roo | o I ™ lass (see oot | @ P oiass (st ool | Doy ! VERLAP: | [@ D) ' @r 2=
(SEE SCHEDULE ~™J} | | \ o b= SCHEDULE ON | ! | In I~ scrEDULE on Y| ! | = t T I Doni A B
I ON SHEET 8) § | ; Zh { SHEET 8) : ‘ l g m : SHEET 8) ! | | T b | i < o
| LA 25 L & & : LA Gu T 5 l a
A Ho -\ Sz : % ’ 25 | | so%, !,
T ; T VA i T oM
1/478-20u1" Cr L Z I D o [1/4"-20x1" LV - | | | o a
|SS. BOLTS W/ | | N |55, BOLTS W/ ‘ : = |SS. BOLTS W/ y i ke | | | Pt
‘7/a'a x 3/32 i i X3 ‘7/8"(3 x 3/32' [ 8 !7/8 9 x 3/32" L 1 | <Zc L | 1 |
[WING NUT © EACH | | 2 |WING NUT '@ EACH i ‘ <8 {WING NUT ® EACH HIE I | &= | |
’OVERLAP‘ ) | | i ‘O\IERLAP. ! | £z | OVERLAP. ! i A } ‘ |
T Lud
! f ' 20 i f \/{ 1 . @ L l &} é z | | i
— . J} f—l w — ‘ \/\§ £ H I T /\'{ . | | !
| ] - I 2 | IR Py bl el | igt-] b
| b : Z I : ! I ! L | @ E bl ; . 5 gremsmsma=y | -
| | i ! | | I ] | | - —— - L
| _EXISTING b | g% | ExsTne, | Lo ‘ 50% existing, | Lo “ —= "L— L 5. 9. 10, 84/12, /12 3 Max,
[ToLass o ] ox—‘o Lo | OLASS 7 Lo OF "L ouass Lo | 50% 3" Max, me.,@ oR @ A 10/12 1" Min.
! Lo e | | |- ! MAX | oF "L" 1" Min.
. . MAX . 11 . o ‘
. | Al . |~—. r | MAX | ANCHORS: FOR CONCRETE SEE SCHEDULE ON SHEET 9
Zi P D ’ 11 . g 77 oo FOR WOOD SEE SECTIONS ON SHEET 12
eh P | 7/8é¢x%/32“ BN Z B L 1
D. [WING NUT 13 ! | = A
A /@ Sexr eD. D 2N T  PANELS (D& (A ELEVATION
7z \ l?/“;'.? Sz AR | A SCALE 3/32"=1"
E"f“.,/;éi @ o 1 Lo _ ] ! 1/4" MAX. GAP
i e s,
/ ! i ‘ ‘50011 ///‘» : : | 2.67" ‘j
7 |1M /mi | /4"6-2043/4" S5, BOLT 7 L (MIN. OVERLAP =1 WHOLE VALLEY) @.\
7 ' / W/ 7/8"%3/32" WING NUT 7 s .
@ 12 1/2" oc. CONCRETE ANCHORS , RN LN N NN
Cont, (SEE SCHEDULE ON [ — j — A — e p— p— p— N M A
CONCRETE ANCHORS 1/4" MAX. GAP
CONCRETE ANCHORS STAGGERED _(SEE_ SCHEDULE ON SHEET 9)
W/ STUD (SEE SCHEDULE ON SHEET 6
SHEET 9) ) : s f
POURED CONCRETE OR S - A
POURED R CONCRETE BLOCK St
POURED CONCRETE OR ——-—%‘N’ERHE OQ’&%EJE 0 REQUIRED : SCALE 3/32"=1
gggﬁﬁ% BLOCK REQUIRED
DIRECT AND WALL MOUNTING IRECT MOUNTIN
INSTALLATION INSTALLATION
SCALE 3/8=1" SCALE 3/8=1"

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

C201 TLTECO, NG | 20 GAGE GALVANIZED STEEL STORM PANEL | MGY/me/Ae

NOTE_FOR_COMBINATION OF SECTIONS:

E.D. = EDGE DISTANCE . 12/05/11
(SEE SCHEDULE ON TOP & BOTTOM MOUNTINGS CAN BE / gé&é% @ @ \ GL@@AL PQQTE@TEQN P@@QGST%, LLQ. DATE:
SHEET 9) COMBINED IN ANY WAY TO SUIT ANY IRC. 4800 s, 51, STREET
INSTALLATION. kLT, TESTING & L0l i casoevs, 35100 PHONE: (954)589-7545, FAX: (954)689-8797 11-213
Phone ; (305) 871~1530 . Fox : (305) 871-1531 - DRAWING No:
EB~-000E719 REV. No DESCRIPTION BAIE REV, Ne DESCHIBTION DATE
- I e e e e LA

"’ 'UIYHL v ""
29005081979



SEE SECTIONS 1, 3 & 4

ON SHEET 4 STORM PANEL W/5'—0" Max, PANEL
s WALL AND FLOOR MOUNTING INSTALLATION FOR Horiiiidmts:
OF +55.0 psf, -72.0 p.s.f.
(SEE SCHEDULE ON ’ SPLIT PANELS . CONCRETE ANCHORS (SEE SCHEDULE ON .
SHEET N " —3 S
8 &9) NN e 6 — i SHEET 8 & 9) Max. o
| N (3)1/4% THRU BOLT 1% Win. %@, L NN
"5 THR 5 . \
N N X{ﬁll» W/ WASHER & NUT. NN : ! | §
POURED = \ < i / 22" /4"50" 6" S R e — ‘ e ‘ ; =R\
CONCRETE J, /4" \\\ ‘ l Alum, ANGLE ] \\\\ —= 17 g Alum, ANGLE \ : : NN
AEQUIRED M, | N L__@ & (8063-T6 ALLOY) d Max.|  (B0A3-TE ALLOY) \ N
} ax. | NN r ' /_ {Typ. TOP & BOTTOM) o~ N 1 r—-—- (Typ. TOP & BOTTOM) NN
E.D I | NN | . N ] i , \
L. - /l 1 —-o'-rv‘———--‘-— i i R MULLION )
! 4 ‘ MULLION NN v ! N
\. |, N I% / 2" V. - W\R]EK i (3)1/4"¢ THRU BOLTS 1\\\
A | I I 10 = = el e A a2
! Tkt i ! N - | (2) 5/16" TAPCON XL, N EE N 7
l | . EDGE OF WALL \Q @ ;hT’W'pEjllez-:LTDﬁngr{ e == (2) 5/16 N v
| F " " in. A 16"¢ TAPCON XL, NN
! i | IFARPLICABLE B\ —d 1" 4w =1 [~ CONCRETE OR GROUT W ™STrw. Buloex w/ 2 174" N\
! ! " . FILLED BLOCK N Min. PENETRATION INTO N
| A- i j 412" | AN CONCRETE OR GROUT NN
T v T T MIN. E.D. x> FILLED BLOCK Ar )
! i [ A\ : »
i ] | I -‘c‘ 1 r‘__‘”_ﬂ,‘__,_,»«-..-—_—J-...--a-— -\\\
o O T S, L =1 %
{‘ SEE SCHEDULE : . i /—"‘—1\\\ - - d ‘\K\\?\
— | ’_. § g o sl N\ - %“ﬁ\ Ay
o SHEET 8 4 | ! E @ : / ) IR Y .2 NN
i OR Min, SEPARATION SCALE: 1/45: . 1» { 1 N
|70 EXISTING GLASS : { ll : = : i } i el N }
: % w\ N
! i [ ! 7 NN
| i | i \|@ e, A I N A I A =
| ! STORM PANEL W/5'=0" Max. PANEL S 4 A B s A S T N A I NN
TENGTH & DESIGN PRESSURE RATING ——— WMULLION * (SEE SCHEDULE ON THIS SHEET) ety
cont i OF +55.0 p.af., ~72.0 p.stf. SEE DETAL 1 P et N
B STORM PANEL W/B'~0" Max. PANEL // et ! \gém 9
W/ f1ax3/e LENGTH & DESIGN PRESSURE RATING = L NN
5.5, SM.S. ‘ MULLION — 8083~T6 ALLOY OF +85.0 p.s.f, -72.0 p.sf. A i :
@ 6" 0% . TSEE SCHEDULE ON THIS SHEET) q Y !
| S NN
i ! N
| ' \\\Q
| A . | N
! o Max. 9) 5/16% TAPCON XL, 6" N
| L3 T N e s AL \
| i — W/ f14x3/4" N X Min E.D N
! r CONCRETE OR GROUT in ED. 3
%?ﬁgoﬁ%é’“é?;'f'&i : : i 55 shs @ 6 ac i N FILLED BLOGK BN N \\
| | | r% ] &B \: 4 A
e . 4%
| 1 |l STORM PANEL W/B'~0" Max. PANEL ' ] NN (3) 1/4" THRU BOLTS N ) v )
| LENGTH & DESION PRESSURE RATING e W/ WASHER NUT. - 1% v
i P = / & N
, | ' | OF +55.0 psf., —72.0 paf. L l‘ MULLION
‘ Lo T g —| | N
! N 1 | i . // 2""2""1/4"’5’;6” + \ l " = - = - =
i} SR e S o S Alum. ANGL R ;
T A T % Y I § (6063~T6 ALLOY) N1/2"— T et 2" 1" 1 \\\
| ] | SEE SECTIONS 2 & 24 S (Typ. TOP & BOTTOM) ) i PUAIEINN L——-—Maxk MULLION SPAN * (SEE MULLION SCHEDULE
i | - ON SHEET 4 3\\ | N
! —==h \ N
i | N N\ N
: / : | \\ A 20 Et:_sa ochm)
| i ; IF APPLICABLE
| Lo, l EDGE OF DETAIL

y ~ & s L WALL OR SLAB
Tk /,2< JIJQW/;%/ Z, (AL, CONDITION) , ,
POURED CONCRETE N n u' ,{f 7 : S

e

REQUIRED —— .
@ == 7, Max. MULLION REQUIRED Min.
P I 7 SPAN (Ft.) * TUBE MULLION **
e \{ “ CONCRETE ANCHORS
(SEE SCHEDULE e P "
/ :\\ :: ON SHEETS 8 & 9) < 4-6 2" x 3" x 1/8
I Vo STORM PANEL W/8'~8" Max, PANEL g g "4 "
\ LI ﬂ}] (L]%NGTHS& DESIG{\! 7P§Essu§|-: RATING | 7 4-6" 70 5-8 27 x 4" x 1/8
X postoped gosi +55.0 paf., —~72.0 psf. o ' ., 2" x 5" x 1/8", ””;;g;,,’f’
- " " " T
CONCRETE. ALHIORS \ /\ > 58 106 2"« 4" x 1/4 5 QAT s,
SR N A g s 5 0 OSER B Ty
L ON SHEET 4 10" _g" " " v 5 ESITITIN , . .
> 6'-10" 10 80 2" x 6" x 1/8 \ngt R FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
¢ SPANS VALID FOR A.S.D. DESIGN PRESSURE RATING ' 3 ©2011 TLTECO, INC AG
UP T0 +550 p.sf. —72.0 p.sf. P 20 GAGE GALVANIZED STEEL STORM PANEL “-%;’./R.E.B/Y‘..
s+ MINIMUM TUBE'S OIMENSION, SHALL BE ORIENTED AN BT
s , PARALLEL TO STORM PANEL'S LENGTH. - Iy
SCALE 3/8=1" EEL E ECO CLOBAL PROTECTION PRODUCTS, LLC. DATE:
tNE. 4800 S, 51 STREET
o e S s A A e PHONE: (35 S%AV‘%J; ?ii‘?gmeag 8797 11-213
NOTE: MULLION CAN ALSO BE INSTALLED W/O STORM PANELS ON TOP O e iagy ot (S08) 8711531 : (souess 7o TR DRAWING No:
OR BOTTOM SO THAT IT IS LOCATED AT TOP OR BOTTOM OF OPENING. EB-0006719 FEV. Mo DESCRIFTION DAIE | RV, Ke BESCRIPTION BATE g
(ONE PANEL OPENING W/ TUBE TOP & BOTTOM) WALTER A, TLLIT Jr., P.E. ! ow 08237 N2/S/1 2 Z ~—{SHEET 7 OF 26
FHLQRIDA Lic. # 44167 2 =~ - + - ol




MAXIMUMN, 3 e Mox. Pf‘_NE';_)LENG‘TH MINIMUM SEPARATION PANEL ’;Pi'gjg’*%ﬁ% RN
RATING (p.s.f.) (SEE SECTIONS) TO GLASS CONDITION OF THEM
+55.5, -72.0 7'-5" OR LESS 2 1/4" UNBOLTED 7 THRU 5 & 7
+55.5, ~72.0 >7'=5" TO 8'-8" Max. 2 3/4" UNBOLTED 1 THRU 5 & 7
£55.0, =720 |>8'-8" TO 11'-2" Max. 21/2" * BOLTED AT MDLENGTH 6
+43.8, —48.0 12'~4" OR LESS 31/2" * BOLTED AT MDLENGTH 8 9 &10

« BOLTED W/ 1/4"@5-—20)(1“ S.S. M.S. & WINGNUT AT OVERLAP & MIDLENGTH OF PANEL.

TALLATIONS AS PER SECTIONS 1 THRU 7, ON SHEETS 4 & 5)

MAXIMUM ANCHORS SPACING FOR ED. = 3 1/27 #
MAXIMUM A.S.D. APPLICABLE TO
DESIGN TAPCON CF TAP-CRIP CALK~IN PANELMATE FEMALE ID PANELMATE PLUS SECTIONS # & MAXIMUM PANEL
PRESSURE TO 70 70 TO 0 ANY COMBINATION | LENGTH "L" (ft)
0 CONCRETE| CONCRETE |70 CONCRETE | CONCRETE |70 CONCRETE| CONCRETE 70 CONCRETE | CONCRETE | TO CONCRETE | CONCRETE OF THEM
RATING {p.s.f.) BLOCK RLOCK BLOCK BLOCK BLOCK
8" N/A N/A N/A 6" N/A 6" N/A 8" N/A 1 (TOP)
& & N/A N/A 6" 6" ¢ 6" & & 1 (BOTTOM)
8" N/A N/A N/A 6" N/A &’ N/A 6" N/A 2 (TOP)
8" N/A N/A N/A 8" N/A 5" N/A 5" N/A 2 (BOTTOM)
+55.5, ~72.0 5" N/A N/A N/A 6" N/A & N/A & N/A 3 & 4 (T0P) 7'-5" OR LESS
OR LESS ; . ; -
8" 8" N/A N/A 6" 8" 8 6 6 & 3 (BOTTOM)
8" N/A N/A N/A 6" N/A 6" N/A 8 N/A 7 (TOP)
6" 6" N/A N/A 6" 6" & 6" & & 4 & 7 (BOTTOM)
N/A N/A 12 172" 8 1/4" 12 1/2" 6 1/4" 6 1/4 6 1/4" 6 1/4" 6 1/4" 5 (TOP/BOTTOM)

SEE SHEETS 10 & 11 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDING.
MINIMUM ANCHOR SPACINGS AND MINIMUM EDGE DISTANCE ARE INDICATED ON THIS SCHEDULE. FOR E.D. LESS
THAN INDICATED ON SCHEDULE REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE B8Y
THE FOLLOWING FACTORS. FOR THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED USING FACTOR
SHALL NOT BE LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
1/4" 1/4" 1/4"a 1/4"a 1 /4" 1/4"a
ANGHOR TA:CON cF T//\/P—GRtP PANQLM”E PANQ'-MATE C/»L/K—m SOL:J——SET
FEMALE 1D PLUS ) ot ﬂl!h’!&l,‘,”;
Min, ANCHOR SPACING (in.) 3 3 3 3 2 1/2 3 ,ﬁ;&?\ P\ Tfi[/ <
. = ¢ -, . . .
$¥epce pisTANCE | Conerete (in) 3 3 3 3 3 31/2 R L 7 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
(ED. Min.) Conerete Black (in.) 3 3 31/2 3172 4 31/2 Y EROR T
: ©2011 TILTECO, INC. M.C.V./RE/AG.
|
FOTUL ED. (EDGE DISTANGE) FAETOR 70 GAGE GALVANIZED STEEL STORM PANEL PRANN BY:
11/2" -35 :35 - - - - . 12/08/11
2 12 . . - N 50 0.63 EEL E o GLOBAL PROTECTION PROBUCTS, LLC. DATE:
. v v . e = - IRC. 4800 SW, 51 STREET
3 ) . : . FILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11=213
o _ _ 1.00 _ 1.00 1.00 5355 N.W. J6th. St, Ste. 305, VIRGIMA GARDENS, Fl. 33166 PHONE: (954)689-7545, FAX: (954)689-6797
3172 Phane : (305) 57‘2-;5;%5;;;9: (305 871-1831 V., e ‘DESCRIPTION DATE | REV. Ho DESGRIFTION DATE DRAWING No
WALTER A. TRLUT Jr, P.E. ’ OLD 08-237 12/08/11 3 - - SHEET 8 OF 26
FLORIDA Lic. # 44167 2 - - 4 - -
FFispp2888°7"




DESIGN_PRESSURE RATING (p.s.f.) CORRESPONDING MAXIMUM ANCHOR
ING_SCHEDULE FOR REGULAR STORM PANELS (1) & JA INSTALLATIONS

(VALID ONLY FOR PANELS @& @lNSTALLATIONS AS PER SECTIONS 1 THRU 10, ON SHEETS 4, 5 & 6)

D. DESIGN PRESSURE RATING (
ING ]

&,

MAXIMUM MAXIMUM ANCHORS SPACING FOR ED. = 3 1/2" #*
APPLICABLE TO
AS.D. DESIGN TAPCON CF TAP-GRIP CALK—IN PANFELMATE FEMALE 1D PANELMATE PLUS SOLID SET SECTIONS # & MAXIMUM PANEL
PRESSURE T0 T0 10 0 10 1 ANY COMBINATION | LENGTH "L" (ft.)
RATING T0 CONCRETE | CONGRETE | TO CONCRETE | CONCRETE | TO GONCRETE | CONCRETE |TO CONCRETE | CONCRETE TO CONCRETE | CONCRETE |TO CONCRETE | CONCRETE OF THEM
{p.s.f.) BLOCK BLOCK BLOCK BLOCK BLOCK BLOCK
" N/A N/A N/A 6" N/A 8" N/A 8" N/A N/A N/A 1 (TOP)
g" 6" N/A N/A 8" 6" 8" 8" 8" 8" N/A N/A 1 (BOTTOM)
&" N/A N/A N/A 6" N/A 8" N/A 6" N/A N/A N/A 2 (TOP)
6" N/A N/A N/A 6" N/A 5" N/A 5" N/A N/A N/A 2 (BOTTOM)
1+55.5, ~72.0 6" N/A N/A N/A 6" N/A 8" N/A 8" N/A N/A N/A 3 & 4 (TOP) [»7'-5" TO 8'-8"
OR LESS N . " | "
é 6 N/A N/A 6" 6" &’ 6 6" 8 N/A N/A 3 (BOTTOM)
g" N/A N/A N/A 8" N/A 6" N/A 6" N/A N/A N/A 7 (TOP)
6" 6" N/A N/A 6" 6" 6" 8" 6" 6" N/A N/A 4 & 7 (BOTTOM)
N/A N/A 12 1/2° 8 1/4" 12 1/2" 6 1/4" 6 1/4" 6 1/4" 6 1/4" & 1/4" N/A N/A 5 (TOP/BOTTOM)
+50.0, —53.3F N/A N/A 12 1/2" | 6 1/4" 12 1/2" | 6 1/4" 6 1/4" 6 1/4" 8 1/4" & 1/4" N/A N/A 6 (TOP/BOTTOM) }>8'~8" T0 11'=2"
+55.0, —=72.00 N/A N/A 6 1/4" N/A B 1/4" N/A 6 1/4" 6 1/4" 6 1/4" 6 1/4" N/A N/A 6 (TOP/BOTTOM) [>8'~8" T0 11'-2"
N/A N/A N/A N/A N/A N/A N/A N/A 6 1/4" 6 1/4" 6 1/4" 6 1/4" |8, 9, 10 (TOP)
+43.8, —48.0 8" 8" N/A N/A N/A N/A N/A N/A 8" 8" 6 1/4" 6 1/4" & (BOTTOM) o
OR LESS - - - - 12'~4" OR LESS
6 6 N/A N/A N/A N/A N/A N/A 6" 6" 6 1/4 & 1/4 9 (BOTTOM)
N/A N/A N/A N/A N/A N/A N/A N/A 6 1/4" 8 1/4" 8 1/4" 6 1/4" 10 (BOTTOM)

SEE SHEETS 10, 11 AND 12 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDING.
MINIMUM ANCHOR SPACINGS AND MINIMUM EDGE DISTANCE ARE INDICATED ON THIS SCHEDULE. FOR E.D. LESS
THAN INDICATED ON SCHEDULE REDUCE ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY
THE FOLLOWING FACTORS. FOR THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED USING FACTOR
SHALL NOT BE LESS THAN MINIMUM SPACING INDICATED FOR EACH ANCHOR TYFE AT ANCHORS LEGEND.
1/4" 1/4" 1/4"s 1/4"a 1/4"s 1/4"
AHCHOR TYPE L / F'ANéLMATE PANéLMATE . ‘
TAPCON  {CF TAP=GRIP ! Loy I o CALK—IN SOUD-SET
Min, ANCHOR SPACING (in.) 3 3 3 3 21/2 3
#8enae pisTANGE | Conerete (in.) 3 3 3 3 3 3172 FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
(E.D. Min.) Conerete Block (in) 3 3 3 1/2 31/2 4 31/2
@2011 TILTECO, INC. \ M.CV./RE./AG.
ACTRL ED. (EDGE DISTANCE) FAGCTOR 5 20 GAGE GALVANIZED STEEL STORM PANEL i BY:
1 1/2" 35 35 - - - - N , 12/05/11
2 12 . - - Z 50 0.63 3 ?%L §§ o CLOBAL PROTECTION PRODUCTS, LLC. oTEs
- s P . s e - 3 iNE. 4800 SW. 51 STREET
3 : i : : 3 TILL/T TESTING & ENGINEERING COMPANY DAVIE, FL. 33514 11-213
3 10 ~ — 1.00 - 1.00 1.00 6355 N.W. JBth. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)889-7545, FAX: (854)689-8797
- 5 ‘&_‘ Phne : (30%) 872—;5;25;;;5; (G05) &71=1531 RV, No DESCRIPTION DAIE | FEV. Ho DESCRIPTION DATE DRAWING No:
=, Q&Y sEALSIENGR T - - -
= WALTER A, THLIT Jr, P.E. ! OLD _08-237 12/08/11 3
s, / 5&@3;‘% ais FLORIDA Lic. # 44167 ; - . Z ~ ——| SHEET 9 OF 26

TP rpspsai i




INSTALLATION DETAILS FOR REGULAR PANELS (D & (A
INTO EXISTING WOOD D _STRUCTURES

1"x3"%1/8" (Min.)
3 P " 5 ALUMINUM TUBE
— o i SoRERotD PENErRATON L s — ] (6083-T5 ALOY) — s o screvs @ € oc.
\ 10 EXISTING WOOD HEADER. TS . / : | 1/2" Min. THREADED PENETRATION
4 Jcont. A ' 1/4"8 LAG SCREWS @ 6" 0.C. W/ 1/4% LAG SCREWS @ 8" 0.C. W/ . TO EXISTING WOOD HEADER.
- e T 1/2" Min, THREADED PENETRATION 17 1/2" Min. THREADED PENETRATION 1'x4"x1/8" (Min) 6063-T5 % ) ALTERNATE W/ STUD THROUGHOUT.
1/4"8-20 S.5. BOLTS /] ¥ /70 EXISTING WOOD HEADER. TG EXISTING WOOD HEADER. ALLOY Alum. TUBE W/ |
\ r‘oa F10:3/47 SIS, y N y 1(3) 5/16% LG SCREWS TO /—@Conz.
/ \ EACH RAFTER OR TRUSS.
LOCATE SCREWS AT MIDWIDTH
\ /< 5 s L OF EXISTING WOOD MEMBER,
g s g g‘ [ (2" Min. NOMINAL WIDTH) W/

2 1/2" Min, PENETRATION. - 7/8"x3/32°
WING NUT @ EVERY

STuD & 12 1/27 0.

\ )
1/2 Mmj : y = 1 1/2"/(

T/
hAax.

.500"——J

WOOD TRUSSES OR RAFTER
@ 24" 0.0, REQUIRED

1 /43 /4" 1TW, auxén_r-:&_/
TEK SCREW @ @°

1/4"—]
&{frs.

{SEE NOTE 1 BELOW)
l V

g
3

* Mox. PAMEL LENGTH (SEE NOTE 1 BELOW)}———!

T N7/8"8x3/32" WING
D:[] e WIT @ EVERY STUD
[ pyi| @ 12 1/2° 0C.

Mox. PANEL LENGTH

SR
i
OR
WoaD REQUIRED
SEE SCHEDULE
HEADER WOOU HEADER \\® WOOD HEADER
B} cont. SEE SCHEDULE ON SHEET 8
REQUIRED ﬁ “‘@ ON SHEET 8 v FOR Min. SEi SEPARAmN REQUIRED
i

FOR Min. SEFAR’AT!ON |
T‘O GLASS. SEE SCHEDULE

N
REQUIRED \®
\@

“L* Max. PANEL LENGTH (SEE NOTE 1 BELOW

"L” Max. PANEL LENGTH {SEE NOTE 1 BELOW)—e!

#——-"L" Mox. PAMEL LENGTH (SEE NOTE 1 BELOW)———ri

- - /é ON SHEET
e / y e L —lror i SeParATION™
SEE SCHEDULE SEE SCHEDULE *""“‘\ﬁ—'l 70 CLASS.
o oNSHEET 8 | ON SHEET 8
FOR Min. SEPARATICN - FOR Min, =
T0' GLASS. SEPARATION
TO GLASS. —
7 /8 ax3/32"
7/8"003/32" 8 808 O oc
= " c.
g SCALE: 1/4" = 1" e S P ae " w000 ™
1 - 2 17 2o ! Bk REQUIRE 2°%G" WOOD DECK \|
A A = RN cont. e A REQUIRED — ; S )
i~ g \ ; - NG gxﬂgﬁ 2 fi
" d ALLOWE NO FINISH ALLOWED
L 7/8"043/32" [ S

W3OOD PLATE

: WING NUT @ EVERY -
\ STUD & 12 172 0C. ,__,Q\‘___
-F e 1o screws @ 6 o, S [ _1/4" LAG SCREWS & 4" a.c.

REQUIRED
STAGGERED W/ STUD WiTH Da—— 1 1/2" Min, THREADED
= 1 1/2" Min. THREADED PENETRATION 3" ¥ reiion o ExaTiG DECK
AT MIDWIDTH OF PLATE
»
SCALE: 1/4" = 1 \ 4 I

(SECTION AT TOP IS LIMITED TO +55.5-67.0 MAX.
A.S.D. DESIGN PRESSURE RATING)
SCALE: 1/4" = 1"

SCALE: 1/4" = 1"

7/8"ex3/32"
WING NUT @ EVERY
STUD @ 12 /2" Q..

2"x6% WOOD DECK
REQUIRED

NO FINISH ALLOWED

Yz LAG SCREWS @ 4" o.c.
W/ 2" Min, THREADED
PENETRATION INTO EXISTING DECK

NOTES: Aels =k
’I”””ll” SCALE: 1/4 =
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH AS.D. DES!GN LOADS A L o, ,
UP TO  +55.5, —72.0 p.s.f. AND PANEL'S LENGTH UP TO 8'-8". , . :
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN ,. FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
PINE NO. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ‘\\s ©2017 THTECO, INC. 90 GAGE GALVANIZED STEEL STORM PANEL M.(:D.;/A{riisgﬁ.c.
)
N 12/08,/11
NOTE FOR COMBINATION OF SECTIONS: N g GCLOBAL PROTECTION PRODUCTS, LLE, AT
o) _ -
TOP & BOTTOM MOUNTINGS CAN BE B2 : ke B e e
COMBINED IN ANY WAY TQ SUIT ANY = ’90".' FLO “)Q. - é(f ‘\‘\ Vgt Tﬁiﬂgcsé Jﬁ'ﬁéﬁa’%\’%ﬁm‘fﬁpﬁ% PHONE: (954)689~7545, FAX: (954)689-8797 11-213
INSTALLATION. =, W Prone + (305) 872-3'_5;%0;;;9: (G0s) 8711331 V. e SEECRIFTION DATE | BEV. No DESCRIPTION DATE DRAWING No:
"o P G / £ L A WL -25 2/08/. : - =
-, SSIBH AL I B0 O e 1 e s i LA LA
T




NSTALLATION DETAILS FOR REGULAR PANELS (D & 1A

ING_WOOD STRUCTURES

|

1/4" 1D, % 5/8" LONG BRASS BUSHING W/ A - AR
1 /4"6-20x2" S.S. M.S. @ 8 " 0.C. FOR
P/;:ﬁlE?_ EE:IGTHS up 10 5'-—0"1{-\:[) 6 1/4" 0.C.

FOR LENGTHS UP TO 8'-B" Max. OR #1410
FANELMATE FEMALE 1D OR PANELMATE PLUS @ ,
15 172" 0. C. WITH 1 172" Min. THREADED G
EENETRATION TO HEADER FOR ALL LENGTHS UP

1 /4% LAG SCREWS © &' OC W/
"1 /2" Min. THREADED PENETRATION
1 /" To EXSTING WOOD HEADER.

= Ea_} Cont. r‘ ’
1/2"

1/4"8-20 S.S. BOLTS

W/ 7/8%8x3/32" WING
N\.I;T é s"xo/‘c‘ £Q
EQ

ﬂ':.:mmunlxllnliﬂ

|
|
|
|
|
|
| |
‘l - EQ
e
l | ‘ o : ) £ i
\ < | Cont. Q” ““ \
i 3 |
WOOD HEADER i 1
REQUIRED i ‘"""@ - ! 3 \\
| ! = WOOD HEADER ] @ |
] | =} REQUIRED i @ WOOD HEADER WOOD HEADER
i i | - \ REQUIRED REQUIRED
' 5 ! ' 5
| — | y 0 z
l‘ | E | o
A Lt g ‘l 2 ALTERNATIVE ALTERNATIVE 2W
A V=T - I £ SCALE 3/8=1" SCALE 3/8=1"
| . - 2
2 A g ]
s ‘i 1 g
] SEE SCHEDULE ON SHEET 8 | | £
SEE SCHEDULE = o ""FOR Min, SEPARATION  —|! | | %
ON SHEET 8 s, TO GLASS. | | || 7/8"#x3/ 32" 2
-l TFOR Min. |- ? 1 | |wiNG NUT @ :
SEPARATION , | |eveRy st o Eﬂ
TO GLASS. t I @ 12 1/2" oL
|

/'

, \ ||
T ek o £Q
= 5 E:D = % N
EQ) el TA LA 1772 i .
| - ol WOOD PLATE
rQ / L«\ﬁ:m " REQUIRED
{/4" 1D. x 5/8" LONG BRASS BUSHING \ 1/4"0-20x3/4" S5 WOOD PLATE
\"“"W/ 1/49-20x2" SS. MS. @ & 1/4" 0C. ?v?ké%‘&{ 4 g"qxosézz FEQURED h
FOR PANEL LENGTHS UP TO 5'-0" AND & y Cont. -
1/4" 0.C. FOR LENGTHS UP 10 g'-8" Max. ’
vd" PLATE OR #1410 PANELMATE FEMALE ID OR \,
REQUIRED PANELMATE PLUS @ 12 1/27 0. C. WiTH 1 1/4" LAG SCREWS © 6" 0C. W/
1/2" Min. THREADED PENETRATION AT b 1/1/2" Min, THREADED PENETRATION
VIDWIDTH OF EXISTING WOOD PLATE FOR 2"x4" PLATE ® MIDWIDTH OF PLATE.
f‘ ALL LENGTHS UP TO 8'-—8" Max. RTU‘RiD
—=C"GHUTTER TRACKS NOT SHOWN FOR CLA
NG INSTALLATION N
SHATIVE ¢ IVE _7W
CALE 3/8=1" SCALE 3/8=1"

NOTES:
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH A.S.D. DESIGN LOADS . . .

UP TO  +55.5, —72.0 PSF AND PANEL'S LENGTH UP TO 8'-8" FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
5. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN 220171 TLIECO, INC. O JRE/AG.
PINE NO. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. o 20 GAGE GALVANIZED STEEL STORM PANEL DRAWN BY:

. 12/05/11
\ cTs, We .
. = : TiLIE \ GLOBAL PROTECTION PRODUCTS, LLC.|  owe
NOTE_FOR _COMBINATION OF SECTIONS EL E C O uc. o SAW,F&S%TREET
: o= e , FL. 14
ToP & BOTTOM MOUNTINGS CAN BE T ENGINEERING Ao PHONE: (954)5%2\/157545, FAX: (954)689-8797 11-213
COMBINED IN ANY WAY TO SUIT ANY prane s (305 871530 . Fx - (505 R WS e NI B DRAVING No:
INSTALLATION. P.E. SEAL/SIGNATURE/DATE WALTER A, TRLIT Jr., P.E ! o os-2a  fiz/o/ul 3 Z ~ ! gHEET 11 OF 26
FLORIDA Lic. £ 44167 2 - - P B - i




INSTALLATION DETAILS FOR REGULAR PANELS (1) & A

#1410 PANELMATE PLUS
/@6 1/4" 0C. W/ 17/8"

THREADED PENETRATION TO

EXISTING WOOD HEADER

) } J ]
i It |
| U 7/8"8x3/32"
@T\‘:\_JAUNG NUT ®
; EVERY STUD @
oo | s1/40c
WOOD HEADER L
REQUIRED b !
i
Lo —O
i
| { i
| | |
b
i
SEE SCHEDULE ON ! S
SHEET 8 bl
FOR Min. SEPARATIONT | | |
TO GLASS. ! \/\ i
: - ; \/\;-—11 Max. PANEL LENGTH
1/4"0~20%1" 8.8, | | (SEE NOTE 1)
M.S. W/ 7/8" x | i
3/32" WING NUT i
@ EVERY OVERLAP , l‘
1
| |
. i
| ! I
i ! ‘
B
|
I | |
oo 0%,
| : : OF "L
Lo ] MAX
Lo —O
| ' f
} | | 7/8%0x3/32"
r i WING NUT @
£Q. EVERY STUD @
[ | 8 1/4" O.C.
£Q. |
¥ =
%EXQArUlRVé(D)OD PLATE \ \ #14—10 PANELMATE PLUS
; @ 6 1/4" 0.C. W/ 1 7/8"
N THREADED PENETRATION @
\ 1 MID WIDTH OF PLATE

ALTERNATIVE W

SOALE 3/8=1"

M
Y
VYT
. /
e #14-10 PANELMATE PLUS # #1410 PANELMATE PL?? )
- @ 6 1/4" 0.c. W/ 1 .7/8" g ® 6 1/4" 0.C. W/ 17/8
_~ ™ ‘ / THREADED PENETRATION TO WOOD HEADER |~ / THREADED PENETRATION TO
/ EXISTING WOOD HEADER REQURED ™ EXISTING WOOD HEADER
\ / \ 4
\ . —
\ i "
P Wele
e i
| } EVERY STUD © ro EVER}Y STUD @
! | 6 1/4" 0C. | 6 1/4" 0.
WOOD HEADER 4_ o :; L
REQUIRED 7 o , |
i ! i
! P ;
== ’ I
X i I i I
z o L
! .
SEE SCHEDULE ON || | i g SEE 20@@1)& ON b
- SHEET 8 n HEET B I |
FOR Min. SEPARATIONT 1 | § FOR Min. SEPARATION || 1|
TO GLASS. | A } TO GLASS. ! A |
/" Max, PANEL LENGTH VN
1/4"6-20X1" 5.8. Lo g (SEE NOTE 1) 1/4"0-20%1" S5, | } (SEE N
MS. W/ 7/8"9 x > ! i M.S. W/ 7/8"8 x sl ! |
3/32" WING NUT B ; 3/32" WING NUT B—
@ EVERY OVERLAP b @ EVERY OVERLAP D]
! { I I
A P A
= o
i | ! |
! | : |
i | | 50%
: 50% : : ! OF nLn
! oF "L | MAX
' MAX =D
@ I
% |
! Lj : R by /4"6-z0%1"
I X
| 7/8"9x3/32" D:E] ] SS. M8 W/
; WING NUT WASHER ; % : Jw/ﬁcawﬁrs{@n
Q. @ 12 1/2" o.C. =3 | e e,
N 3
£Q. EQ.

2"%4" WOOD_PLATE

REQUIRED

NOTES:

PANEL'S LENGTH UP TO 12'—4"

PINE NO. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

1. INSTALLATIONS FOR ALTERNATIVES 8w, @w & 10W ONLY VALID FOR
BUILDINGS WITH A.S.D. DESIGN LOADS UP TO +43.8, —48.0 p.s.f. AND

5. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

NOTE_FOR COMBINATION OF SECTIONS:

TOP & BOTTOM MOUNTINGS CAN BE
COMBINED IN ANY WAY TO SUIT ANY
INSTALLATION.

INTO_EXISTING WOOD STRUCTURES

A,

CONT.

1/4"9 LAG SCREWS @
8" 0.C. STAGGERED W/
STUD W/ 1 1/2" MIN.
THREADED PENETRATION
AT MIDWIDTH OF PLATE

2%4" WOOD PLATE
REQUIRED

Max. PANEL LENGTH

1

T

ALTERNAT

VE

1/4"8 LAG SCREWS
@ 8" 0.c. w/1 1/2"
MIN. THREADED
PENETRATION AT
MIDWIDTH OF PLATE

OTE 1)

FLORIDA BUILDING CODE (High Velocity Hurricane Zone)

©2011 TLTECO, INC.

/T

L

[ECOwe \

TILLIT TESTING & ENGINEERING COMPANY
5355 N.W. 36th. Si, Ste. 305, VIRGINW CARDENS, Fl. 33166
Phone : (305) 871-1530 . Fox : (305) 871~1531

EB-0008712
WALTER A, TILLIT Jr., P.E.
FLORIDA Lic, # 44167

M.CV./RE./AG.
20 GAGE GALVANIZED STEEL STORM PANEL DRAWN BY:
‘ 12/08/11
CLOBAL PROTECTION PRODUCTS, LLC. AT
4800 S.w. 51 STREET
DAVIE, FL. 33314 11-213
PHONE: (354)689-7545, FAX: (954)6B9-8797 2
RV, He BESCRIFTION DATE | V. Ko DESCRIPTION OHTE DRAWING Me:
] ob 08237 hajee/nf_ 3 = — VeHEET 12 OF %6

TP T



CONCRETE ANCHORS

CONCRETE ANCHORS

(SEE SCHEDULE ON RN (SEE SCHEDULE ON N
SHEET 14)_\ N SHEET 14)\ N/
IEEIEENN _ 4 POURED CONCRETE B SNN !
\\\\ _590" 250" REQUIRED \\\\: .500" }‘250..
\Q\ i \! Max. ?\\\‘ l ¥ [ \| : Max.
POURED CONCRETE N I I N
REQURED 5 \\§\ | | i/’/® a \\\: | i |
L NN Cont. ul N Cont.
N l\\ A\ N I\
NN NN S
| o @ T N )
~SFE_SCHEDULE ON~— ~SEE_SCHEDULE 0N
SHEET 14 | | SHEET 14 | |
FOR Min. SEPARATION FOR Min. SEPARATION
| 70 GLASS | [ | 7 10 aLass \ ; n
J N Ry ye N
| | | s every | | | wine W every
| A 7 ~STUD @ 12 1/2" 0.C. o 7 STUD @ 12 1/2° 0.C.

|

1 1/8" Min.
(SEE DET. 1/14)

I

|

|

/ I

L~ 1/4"8x1" MACHINE

il

]

SCREW W/ SPEEDHUTS
To({De 12 1/2" 0.C.

5/8" Min. (CASE 1)
3" Min. (CASE 11)-
(SEE DET. 2/14) ™

& 1 /4"8%1" MACHINE
/] SCREW W/ SPEEDNUTS
oMe 12 1/2" 0

"L” Max. PANEL LENGTH {SEE SCHEDULE ON SHEET 14)

b "” Mox. PANEL LENGTH (SEE SCHEDULE ON SHEET 14)

| t T
| | | | P
LI, | | | | | | | (SEE DETAILS 1/14
(e | | | | L & 2/14) I8 =T "T aT ‘”““‘“""“"'7Z ‘z“1| (ATLTFEZSSIA;ENIéog?TION
A ANEL
/ Al | \ 1 | i @9 @OR?? ‘ ‘ l E I I|(SEE DETALS 1/14
g el o ) | o ~ | e 2
BLOCK WALL 4 | I T
REQUIRED | | ‘ . T s
o | o 1/4, 2/4, IM/4, 3/4 R 4f4 b1, 2, & W5 L, 2 & IW/15
i 1
=i | 1 S | T,
Z N LIFE S NEL |
= / | | l | | ; | AREA W/NO LIFE SAFETY PANELS LOCATION OF LIFE  (SEE NOTE 1BELOW)
(i ‘ B | Cont. | | e ie REGULAR PANELS W/ OR -~ SAFETY PANEL
£ 7 | . | .————“ :T” | W/0 REGULAR TRACKS (SEE NOTE 1 "
E INSTALLED AS
CONCRETE ANCHORS _ / //// 7 // Y, 1 Y, BELOV) tﬁSET 5/@-‘%‘\7 S OR&O P?&NEL OPENING SHALL
(SEE SCHEDULE ON 7 ’ A ’ T EDGE OF } vS BE PROVIDED W/ REAR HANDLE
SHEET 14) POURED CONCRETE™ 7, e CONDITON) QPTION é 1 FOR LIFE SAFETY STORM A ERITATE O N it NTENDED
Cont. REQURED  evors [ =" PANEL (1) & i EER{?:(?JS&R_EED OR REMOVED FROM INSIDE
(e SoE o) e ELEVATION -
’ o ELEVAILIVIN
WALL MOUNTING INSTALLATION OOR MOUNT SCALE 3/32°=1" .
g 4 . - " I~ 111 . OR *® 1/4" Max.
SCALE: 3/8" = 1 | ;r_,/4 Mo, GAP @ @B @{ /4 Max “Iic

NOTES ON_LIFE_SAFETY STORM PANEL SYSTEM INSTALLATION :

1.

LIFE SAFETY STORM PANEL CAN BE LOCATED AS AN END PANEL (FIRST OR LAST PANEL)
OR AS AN INTERIOR PANEL. (ANY PANEL LOCATION IN BETWEEN END PANELS).

LIFE SAFETY PANELS MAY OR MAY NO
(W/ OR W/0 REGULAR TRACKS.)

LIFE SAFETY STORM PANEL CONSISTS
PER COMPONENT (1),

T BE INSTALLED ADJACENT TO REGULAR PANELS

OF 0.039" GALVANIZED STEEL STORM PANEL AS

SHEET 2 OF DRAWING.

THIS PANEL ALLOWS ITSELF TO BE REMOVED OR INSTALLED FROM THE INSIDE OF

STRUCTURE.
LIFE SAFETY PANEL REQUIRES TOP TR

ACK TO BE COMPONENT @ & BOTTOM TRACK TO

BE COMPONENT AS PER SHEET 2 OF THIS DRAWING.
COMPONENTMAY BE INSTALLED WALL OR FLOOR MOUNTED FOLLOWING SECTIONS 1 &

2 ON THIS SHEET, AS WELL AS DETAI

Min. LENGTH FOR COMPONENT @IS 1

1S 1 & 2 ON SHEET 14,

5",

Max. ANCHOR SPACING FOR COMPONENT &) ANCHORAGE AT BOTTOM IS GIVEN ON

SCHEDULES 1_& 2, SHEET 14.
COMPONENT ® MAY BE PERMANENT O

R REMOVABLE.

SEE DETAILS FOR INSTALLATION INTO WOOD FRAME BUILDINGS ON SHEET 15.

SEE SHEET 4 FOR DETAIL APPLICABLE

TO THE NECESSITY FOR THE INSTALLATION OF

SPACERS AT TRACKS INSTALLED ADJACENT AND BEYOND TO STUCCO/WOOD BANDS.

FOR CONCRETE AMCHORS: SEE SCHEDULE ON SHEET 14
FOR WOOD SCREW: SEE SECTION ON SHEET 15

i
3y~ (2 1, 2, & 1W/15
kA Q /4, 2/4, 2M/4 3/4 R 4/4 D, 2& /15 | VD s
l [} i o o o o ©

/\/7
END! P..ANEJL) (INTERIOR PANEL) (INTERIOR PANEL) | | | (INTERIOR PANEL) (END PLN!IEL)
@ R R ® Oy
/\/i
V- y —4

@ ]
(ALTERNATE LOCATION
AT END PANELS)

—®

S NN 7
S A W A —"

X
i
(AT INTERIOR PANELS.

(ALTERNATE LOCATION
SEE NOTE 1)

AT END PANELS.
SEE NOTE 1)

SECTION

SCALE 3/32"=1"

§ FEEEEFEE s, "
iéit‘?{ﬁ T e
DAL e T/ , , ;
& . L FLORIDA BUILDING CODE (Kigh Velocity Hurricane Zone)
: ' ©2011 TILTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ M.C.V./R.E./AG.
{20 GAGE GALVAN(ZED STEEL STORM PANEL) DRAWN BY:
- 12,/08/11
m ECO \ CLOBAL PROTECTION PRODUCTS, LLC. e
B E & INC. 4800 S, 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 -
£355 N.W. 36th. St, Sle. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689~-7545, FAX: (954)689~8797 11-213
Phone : (305) 871~1530 . Fox : (305) 8711531 DRAWING No:
Sae o0 ER~— 000E719 REV. Mo DESCRIPTION DATE RIV. No DESCRIETION DATE
§Q/ SIONATU WALTER A. TLLIT Jr., P.E. ; oD 08257 |12/8/11} 3 - — Y <ueer 13 OF 26
[ONAN FLORIDA Lic. £ 44167 P - - ; - =

trtssgsssst??



ALTERNATE

g ALTERNATE
p LOCATION
5 1’_0 1/2" AT E.ND PANEL
l Lz ‘
S TN N 1 T U I U v A
T3 mIrTT "
STUDS @ EVERY 1 t ’
OVERLAP A i
(12 1/2" 0.C.) | i
7O HOLD PANEL 3 i i
f i
D O < I N -
| . & N, \\\ 1" (NTS)
SEE SEE \—»INTERioR PANEL \—END PANE?

@

OR DIRECT MOUNT

3"

SCHEDULE #1

ANCHOR
SPACING

FOR Max. —~—FOR Max.

SCHEDULE #1

ANCHOR
SPACING

SPA

STUDS @ EVERY
OVERLAP

(12 1/2" 0. CJ)

L OCATION
AT END PANEL

TO HOLD PANEL

5/8" Min. (CASE 1)

3" Min. (CASE I)

Ay ] ol o
| i
i i
| ]
—n i i
< | W \
e \ N
| | 1h
1/4" ; : SEE ] : SEE 1 \———lNTERIOR PANEL \——END PANEL
L gCHEDULE 7 SCHEDULE LL
3" el 2 FOR —=le— #2 FOR 3"

ore

Max. ANCHOR Max., ANCHOR

SPACING

MUM_P

(APPLICABLE ONLY TQ SECTIO

1'=3" Min.

TING

SPACING

SYSTEM ON SHEET 13).

MAXIMUM A.S.0D. DESIGN Max. PANEL LENGTH "
o MINIMUM SEPARATION PANEL
: . = " PRESSURE RATING L (At
SCHEDULE £ 1 : (B)W/ WALL MOUNT CONDITIONS TOP & BOTTOM W/ ED. = 3 1/2 * e, (et SEaniong) TO GLASS CONDITION
MAXIMUM A.S.D. TAPCON CF TAP~GRIP CALK-IN PANELMATE FEMALE ID |  PANELMATE PLUS | APPLICABLE TO +88.0, ~724 il 23/ UNBOLTED
DESIGN = — = , = - SECTIONS # & | MAXIMUM PANEL -
PRESSURE 10 |conere] 10 |conererel 7O | cONCRETE] oy T re | CONCRETE | oy i [CONCRETERY CONBRUTION LENGTH "L (ft.)
RATING (p.5.1.) ICONCRETE | ™) goy ~|CONCRETE | g1 ack CONCRETE | “ g aek  |CONCRETE | g ok |CONCRETE| “ g ock OF THEM SEE SHEET 15 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDING.
o ' PR . " INIMUM ANCHOR SPACINGS AND MINIMUM EDGE DISTANCE ARE INDICATED ON THIS SCHEDULE, FOR
6 N/A N/A | N/A 6 N/A 8 N/A 6 N/A |1 & 2 (TOF) Eb. LESS THAN INDICATED ON SCHEDULE REDUCE ANCHOR SPACING BY MULTIPLYING SPACING
1550, —72.0 5" 9" o 9" e 9" 9" 5" 9" 9" 1 (BOTTOM) 5'-0" QR LESS SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS. FOR THIS OPERATION TO BE POSSIBLE,
; REDUCED SPACING OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM SPACING
8" N /A N,/A N/A 6" N/A 6" N/A 5" N/A b1 & 2 (ToP) INDICATED FOR EACH ANCHOR TYPE AT ANCHORS LEGEND.
+55.0 ~72.0 —o" g - . -
9" 6" 9" 6" g" |7 1/2"} 9" g" 9" 9" 1 (BOTTOM) >5'-0" 0 7'-6 ANCHOR TYPE 1/4"a /4 1/4'a /4" \/4'a
NCHOR PANELMATE [ PANELMATE
8" N/A N/A N/A 8" N/A 8" N/A 8" N/A 1 & 2 (TOP) TAPCON [ CF TAP=GRIP | e I it CALK—IN
+55.0 ~72.0 9" 8" 3 8 1 (BOTTOM) >7'~6" 10 8'-8" Min. ANCHOR SPACING (in.) 3 3 3 3 2 1/2
9]1 6" ” 6" " 6" 6" 6" M . 0
#enGE DISTANCE |Concrete (in} 3 3 3 3 3
(E.D. Min.)  |Concrete Block (in.) 3 3 31/2 31/2 4
ACTUSL, ED. (EDGE DISTAD FACTOR
SCHEDULE # 2 . &YW/ FLOOR MOUNT CONDITIONS AT BOTTOM W/ ED =3 1/2" * 1172 .35 .35 - - -
] Z - z - 50
MAngzuy\g NA.S.D. SASE | (STUD @ 5/8" Min. FROM TOP OF ANGLE)| CASE I (STUD @ 3" Min. FROM TOP OF ANGLE) APPLICABLE TO 21/2
Sl , SECTIONS # & | MAXIMUM PANEL 3 1.00 100 - 1.00 &3
PRESSURE TAF’T%ON CALTPE;IN TAF;SON CALTKO-—IN \NY COMBINATION LENGTH ") - ~ - s - =
RATING (p.s.f.) CONCRETE CONCRETE CONCRETE CONCRETE OF THEM
+49.2 ~61.5 3 3" 4 1/2" 41/2" 2 (BOTTOM) | 7'-6" OR LESS
_{_5248 __66’0 " " i n L-v
3 3 4 4 2 (BOTTOM) § 7'-6" OR LESS " 100900002,
+55.0 =72.0 2 1/2" 2.1/2" 4" 31/2" 2 (BOTTOM) | 7'-6" OR LESS ~.u¢'\£\:\ L T
+55.0 ~72.0 2 ‘]/2" 2 1/2" N/A N/A 2 (BOTTOM) >7‘__6” TO 8'_0" ‘ \_ FLOR/DA BU’LD/NG CODE (High Ve,oci#y yurfiCane Zone
" Y _an P\ ®2071 TLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ | MCV/RE/AG
+55,0 ~72.0 N/A N/A 3 3 2 (BOTTOM) [>7'-6" TO 8'-8 \‘\ . (20 GAGE GALVANIZED STEEL STORM_ PANEL DRAWN BY:
RE
8 - . - 12/05/11
N LIECcO \ GLOBAL PROTECTION PRODUCTS, LLC.| e
3 iNc. 4800 SM. 51_STREET
TILLIT TESTING & ENGINEERING COMPANY DAVEE, FL. 33314 11-213
i 6355 NW. JBth, St, Ste. 305, VIRGINA GARDENS, Fl. 33166 PHONE: (954)689~7545, FAX: (£54)689-8797
DRAWING No:

Prone : (305) 871~1530 . Fox (305) 871-1531
EB-0008718

REV. Ho

DESCRIPTION

DATE

AEV, Mo

BESCRIPTION

DATE

WALTER A. TILLIT Jr., P.E.

oLD 08-237

12/05/31

3

4

SHEET 14 OF 26

FLORIDA Lic. # 44187
s




INSTALLATION

1/4" LAG SCREWS @ 6" 0.C. W/

A
28 AN L /2 Min. THREADED PENETRATION
/ TO EXISTING WOOD HEADER
il

L——_SOO"

Q8
A
i ‘ ! ]
I —C)
| !
o
EG
WOOD HEADER~ | |
REGUIRED ! | *
N
e / @
| ! -
Y L7 /8"x3/32" w
| l WING NUT @ EVERY 5
| | STUD ® 12 1/2" 0C. z
el TR
DET. 1/14) = | e 2
| | g
3o | I e :
e T g
TO GLASS. I | | =
| |
| |
i |
3 b
T .

2"x4" PLATE
REQUIRED

‘B \_ /4" LAG SCREWS @ 6" 0.C. W/ 1 1/2"

iin. THREADED PENETRATION OR
1/4"1.0,45/8" LONG BRASS BUSHING W/
1/4"0-20x2" S.S. M.S. @ 8" 0.C. OR

WALL MOUNTING INSTALLATI
ALTERNATIVE 1W

1/4"9~20 PANELMATE FEMALE 1D OR
PANELMATE PLUS @ 6" 0.C. W/
THREADED PENETRATION TO EXISTING WOOD
PLATE

SCALE: 3/8" = 1"

DETAILS FOR OPTION # 1 FOR

e

1 1/2" Min.

INTO EXISTING

LIFE SAFETY STORM PANEL SYSTEM

WOOD STRUCTURES

EQ
EQ
EQ
EQ
WOOD HEADER
REQUIRED
ALTERNATIVE 1
EQ N
EQ "
£q OR
EQ N :%
AN
TN
. WOOD PLATE
\6\ REQUIRED

NOTE

EQ
EQ
‘ WOOD HEADER
REQUIRED

4

EQ

EQ ;

i \,\

. WOOD PLATE
REQUIRED

ALTERNATIVE WOOD FRAME CONDITIONS & ANCHOR LOCATIONS
SCALE: 3/8" = 1°
SHUTTER TRACKS NOT SHOWN FOR CLARITY

“”’I’iliij_y},?)
580 Y, " . ) ]
KA pJ - [1ORIDA BUILDING CODE (High Velocity Hurricane Zone
"§‘ R\ ©2011 TLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM M.C.V./RE./AS.
NOTES \\‘ km\’ e (20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN 8Y:
. N S fodese 1&36 = : 12/05/11
| INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH A.S.D. DESIGN LOADS UP T0 E ; kéwﬂo. ‘—i 3 _ GLOBAL PROTECTION PRODUCTS, LLC. o
4555, —72.0 psf AND PANEL'S LENGTH UP TO 8'-8". S kb O GO ILIEC © 1nc rsoo S 51 STREET
S ) y . i) _ e
: = ‘ N A\ r ; ¢ DAVIE, FL. 33314 .
2 N OO T Or isa On EdurL. | o 1L SWEOR g ¥ LI TR L SO HONE: (354)000- 7545, PAX. (854)389-5757 11~213
— . ' = U Phone ¢ (305) 871-1530 . Fox i (305) 871=1531 e e T o — DRAWING Mo
5 FB-0008719 ad : , i < =
o WALTER A. TLLIT Jr., P.E. : oy 08287 fi2/0s/in 2 z SHEET 15 OF 26
FLORIDA Lic. # 44167 2 i - * - nd

3 -
'I!’ﬂi'flfliii""



ANCHORS (SEE SECTIONS ON SHEETS 17, 18, 19 & 20)

3" MAX. bw, 3A/17, 4A/17, 5A/18, I 38/17, 48/17, B/18,
T GAW/19, TAW/19 & BAW/20 P> saw/1e, 7BW/18 & 8BW/20

17 MIN,
Bwlﬁénor T | X__—_,_—_
o Qo o \ o)

!
o m o o \

LIFE SAFETY STORM PANEL

HLH
MAX.
PANEL LENGTH
(SEE SCHEDULE)

A

VA
VT T T o
e 1/4"6-20x1" 5.5, M.S, s ) N
T BOLTS W/7/B"® x 3/32" R/ T ST e ”L """ A
[
\

- \L
R STORN FANEL REGULAR STDRM FANEL
\
|

WING NUT WASHER AT

fw / OVFR“‘PiW l

| i
T 2 “J(QTNGTL:T-I’E_S];T'S’X’UET“"" ____ T N S N o L U R "1 8"

LT LDCATION @ LIFE SAFETY o
F';(l\NEL BO‘TTOMl CORNE&!S @ @

D.M. @8 or 65— =
ZOVERLAP* |

L QVERLAF = )
3" MAX by, 34/17, 4A/17, 5A/18, NG NUT AT LEFT & RO PAEL b 38/17, 4B/17, 5B/18, 3" MAX
1" MIN. 7 BAW/19, TAW/19 & BAW/20 ' BEW/19, 7BW/18 & BBW/20 I

ANCHORS (SEE SECTIONS ON SHEETS 17, 18, 19 & 20)

AFETY STORM_PANEL (1) ELEVATION

SCALE 3/16"=1"

1/4" MAX. GAP

2,670
(MIN, OVERLAP =1 VALLEY)

SECTION A-—A

SCALE 3/16"=1"

MAXIMUM A.S.D. .. PANEL LE? . , .
DESIGN PRESSURE Mo PLN(meENGTH MINIMUM SEPARATION PANEL FLORIDA BUILDING CODE (HMigh Velocity Hurricane Zone)
RATING (p.s.f.) (SEE SECTIONS) TO GLASS CONDITION ©2011 TLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ M.C.V./RE. /AL
(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
+55.0, =72.0 a—-8” 2 3/4" UNBOLTED — S 12/05/11
/ - ILIECO GLOBAL PROTECTION PRODUCTS, LLC DATE:
:f iMc. 4800 SW, 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 L 11-213
6356 M.W. 3ath. St, Ste. 305, VIRGINIA GARDENS, fl. 33166 PHONE: (954)688~7545, FAX: (954)689~8797 L
Phone : (305) 372;,1_53205 ;;9 (305) 8711531 REV. Mo DESCRIETION BATE | REV. Ho DESCRIFTION DATE DRAWING No:
LTl 3 -, P.E. LD 08- 2/05/ 3 - -
T e tiar o R B ) - | SHEET [0 OF 26
'I‘f’lfiillll 7 Ji"




INSTALLATION DETAILS FOR OPTION #2 FOR LIFE SAFETY _STORM PANEL SYSTEM
ETE BLOCK STRUCTURES

INTO_EXISTING POURED CONCRETE OR CONCR

1/4" TAPCON ANCHORS

‘ 1@ g: Tgrécor\s ANCHORS 1@ /4" TAPCON ANCHORS 1/4" TAPCON ANCHORS 1747 TR
i .C. [ 3" 0.C. 8" 0.C.
FOURED CONCRETE POURED CONCRETE. BN POURED CONCRETE POURED CONCRETE
OR CONCRETE OR CONCRETE i W OR CONCRETE OR CONCRETE o
BLOCK REQUIRED - BLOCK REQUIRED = BLOCK REQUIRED BLOCK REQUIRED R %1‘-5
L= . [ MO . D oo
/4 N 1/ N y1/4
== Max. N —— | : Mox.
l T N s ] | — i
TR NN | I T j ED®  N\Jl | 1 b ED.# ‘
Q\ N | N o
& NN oo A N B N P .
NONAVANNNY . o sy LK@ AN L AN @
| | : | CONT. ; : | : CONT, -"" | | ll CONT.
| ! ! ‘ I I |
! Min, SEPARATION TG : } : ' Min. SEPARATION TO ! : i | Win, SEPARATION : 1 ' in. SERARATION TO
I " Glass (SEE ' : : C o L_ "™ GLAgs (s'a? ! I r—® o ! '“'Gmsé‘?é’aé’ b [ ‘ l C o | M cuxsg (SEE C o
I SCHEDULE ON | | | - SCHEDULE ON | ! | - }“ SCHEDULE ON ! : ' - I SCHEDULE ON -
| SHEET 16) | , | z . | SHEET 18) | ; i z - | SHEET 16) t | ! I | SHEET 16) z 5
| o 24 | o ol . o oy | o
EXISTING o i e EXISTING _j b | i EXISTING _J P ‘ §F EXSTING i
Glass 1 I GLASS Lo GLASS | P GLASS ‘
| o 3% A= 35 | I 4z — 23
{ T | —
| ! ‘ l Z | I [ E ! ! ‘ Z | v Z
| . o | SN o= . o £y i e
| I i ] %8 | | | i Ny= i | I v D | %82
I— LA SI ‘ VR Sk | y o g4 | gk
V. =9 L L\ § " 5] L ’ =0 L " 9
S % = = e OO e 25 [— v IE
| | i £ 1/4"8-20x1" §.5, | | Lid | | i j o 1/4"0-20x1" 8.8, P
i ! X e M.S. W/ 7/8' x ; | i b | | i | o M3, W/ 7/8" x | @
i \ | ~ 3/32" WING NUT @ ; i : S ~ I | i | < 3/32" WING NUT @ A— —
| i ! EVERY OVERLAP ! i | ‘ } | | EVERY OVERLAP !
i
| X | L {\\[ L \/\ | | i [ L A | A |
| b — V7 —Wi i bl A% I
{ i f
! Lo * o ! IR ]
| | I | | | | I I t | !
! o ! L ! T Co
| | | i 1 | | | | \ ! | 6"
7 1 6" [ | | !
ED.#* 7 | | 3 ED% % : | ( ) ' ! | !
D. I .D. | ! j
| // | ED#® o |
/ ! | | | | l
-1 " ﬁi@ | L g
AR S E=3 - ; " :
g : 1/2 | 1/4"0-20x3/4"S.S. M.S. W/ L_1_/4 8-20x3/4'S.S. M.S. W/
~ /| 1 [ 7/8"9x3/32" WING NUT WASHER 7/8"0x3/32" WING NUT WASHER
A @ 12 1/2" oC. (BEYOND)
4D N\ 7/8% x 3/32" WING NUT AL N\ 7/8% x 3/32" WING
Cont.  WASHER @ 12 1/2" O.C. €ont.  NUT WASHER (BEYOND)
" “ 1/4" TAPCON ANCHORS 1/4" TAPCON
|_____1/4" TAPCON ANCHORS 1/4" TAPCON ANCHORS —% 7 12" oc. 4 CHORS
® 7 1/2" 0.C. @ 7 1/2" 0.C. © 7 172" 0.C
(STAGGERED W/ STUD) (STAGGERED W/ STUD) B
| POURED CONCRETE L POURED CONCRETE |____POURED CONCRETE | POURED CONCRETE
OR CONCRETE BLOCK

OR CONCRETE BLOCK
REQUIRED

G

OR CONCRETE BLOCK
REQUIRED

OR CONCRETE BLOCK

REQUIRED REQUIRE

I

SCALE 3/8"=1" SCALE 3/8"=1 SCALE 3/8°=1" SCALE 3/8"=1"
1/4%
5 YTILLLLL )
SEE SHEET 19 & 20 FOR ANCHORS TYPE & ARGHOR TYPE TAPCON f s
SPACING FOR INSTALLATIONS INTO WOOD
:‘%‘\&EMBL::@S& CPACINGS AND MINIH Min. ANCHOR SPACING (in.) 3 FLORIDA BUILDING CODE (High Velocily Hurricane Zone
\ NI d UM )
EDGE DISTANCE ARE INDICATED ON THIS ®gnge DISTANCE | Conerete (in) 3 ©2011 TLTECO, INC. {IFE SAFETY STORM PARNEL SYSTEM™ M.C.V./RE./AG.
SCHEDULE FOR E.D, LESS THAN INDICATED ON (E.D. Min.) Concrete Block (in.) 3 (20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
SCHEDULE REDUCE ANCHOR SPACING BY TR — ey
MULTIPLYING SPACING SHOWN ON SCHEDULE CTUAL ED, (BDSE BISTAKE) FACTOR . o : 12/05/11
BY THE FOLLOWING FACTORS. FOR THIS - T *- E L%E GLOBAL PROTECTION P%@@UCTS, LLC. DATE:
OPERATION TO BE POSSIBLE, REDUCED 1172 ' e mg E @ @ iNc. £800 SW, 51 STREET
SPACING OBTAINED USING FACTOR SHALL NOT 2 172" - STAT : TILLIT TESTING & ENGINEERING COMPANY DAVEE, FL. 33314 11-213
BE LESS THAN MINIMUM SPACING INDICATED " 100 FL “ B * 6355 N.W. 36th. St Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689-7545, FAX: (954)683-8787
FOR EACH ANCHOR TYPE ON THIS SCHEDULE : = LY! 75-\“ . Phone : (305) 872;_52255}‘;;9: (305) 871-1531 e e T T T — DRAWING No:
31/2" - = 10/5 AT WALTER A, TILLIT Jr, P.E. ; o 08237 h/es/til 3 - -
s, i NA& 4!9' FLORIDA Lic, # 44167 z - - X - | SHEET 17 OF 26
“ssspss59907




POURED CONCRETE

INSTALLATION DETAILS FOR OPTION #2 FOR

LIFE SAFETY STORM PANEL SYSTEM

e

INTO EXISTING POURED CONCRETE OR CONCR

1/4"” TAPCON ANCHORS
1 @ 9" 0.C.

OR CONCRETE BLOCK]
REQUIRED
_ $ 1/4"
: Max.
I i f 1
| 1
| 1
i |
AN i |
X b
| | | i CONT.
| ] i
| ) { i
Min. SEPARATION TO i I i
I Glass (st Lo ‘_CD
[~ SCHEDULE ON “ ! :
| SHEET 186) | | ! -
| i : \‘ G
! Z
exisTNG | A 2
GLASS f | i =
! I j .
| | i [ |
{ | E
| L g
| i : i é-
‘ /\ ! [ J— =
A N— :
} / ; | | ~
| | ! |
| : | t
f | [ |
| | :
| B
| E b
| | |
| } : :
7 i I 1
TA S ! !
@
i
/ { I i
£0.% L
Jm i k |
/ ! ' |
I
| |
S | I
N ! |

#14—10"8 PANELMATE PLUS W/
7/8" x 3/32" WING NUT WASHER
@ 6 1/4" O.C.

(SEE SCHEDULE ON SHEET 18)

POURED CONCRETE

OR CONCRETE
REQUIRED

0

SCALE 3/8"=1"

BLOCK

1/4"% 1/4"
SEE SHEET 19 & 20 FOR ANCHORS TYPE & ANGHOR TYPE oo | PANELMATE ’Qg:#’%‘i'g”;’ff%
SPACING FOR INSTALLATIONS INTO WOOD FLUS i N T e
R B SPACINGS AND MINIMU Min. ANCHOR SPACING (in.) 3 3 o \’f\% S FLORIDA BUILDING CODE (Migh Velocity Hurricane Zone
ACINGS AND MINIMUM - pooidler

EDGE DISTANCE ARE INDICATED ON THIS #EpGE DISTANCE | Conerete (i) 3 3 VS, ©2011 TWLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ M.C.V./R.E/AG.
SCHEDULE FOR E.D, LESS THAN INDICATED ON (E.D. Min.) Concrete Block {in.) 3 3 1/2 (20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
SCHEDULE REDUCE ANCHOR SPACING BY = s Yy
MULTIPLYING SPACING SHOWN ON SCHEDULE ACTUAL ED. (EDCE DISTANCE) FACTOR
BY THE FOLLOWING FACTORS. FOR THIS " e = E;é@ @ @ GLOBAL PROTECTION PRODUCTS, LLC. DATE:
OPERATION TO BE FOSSIBLE, REDUCED 112 ' IHE. 4800 S.W. 51 STREET
SPACING OBTAINED USING FACTOR SHALL NOT 2 1/2" - - TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11=213
BE LESS THAN MINIMUM SPACING INDICATED £355 MW. 36tn, St, Ste. 305, VIRGINIA GARDENS, F1. 33166 PHONE: (954)689-7545, FAX: (954)889~8797
FOR EACH ANCHOR TYPE ON THIS SCHEDULE 3 100 ree = : prane s (505) 9711530 For - 005) SIS | e Lo | v of% DRAWING N:

3 1/2" B - P= @S’/;EE;A!’ SIGNeT\Li\ 75" Wi}LgEDﬁ. Tlh’.z Jr., 5P‘E. owb 08-237  N2/os/1y 2 = SHEET 18 OF 26

. LORIDA_Li 44157 - - 4 -
B LLORIDA Lic,

1
POURED CONCRETE __ |
OR CONCRETE BLOCK l
REQUIRED

ETE BLOCK STRUCTURES
1@{ 49"" TOAF’CCON ANCHORS

- ! 1/4_"
B Max.
{ i
ED® }
AR N 1
N \\l\\\\ &
T CONT.
!
|
Min. SEPARATION TO -——{ )
L ™ oLass (SEE o
™ SCHEDULE ON -
; SHEET 16) g
| QU
EXISTING _y o5
GLASS A
"t 1 Z
— /\/* T y’ T % (@]
| i I < 1
| I ! | o
+ : : 2
| rar L 34
| =5
: i\ To— 8" N
1/4"8-20x1" 8.5, | L
M.S. W/ 7/8% x ! )
i

3/32" WING NUT &
EVERY OVERLAP

——

f—

///1 4 /////

414—-10"8 PANELMATE PLUS W/
7/8% x 3/32" WING NUT WASHER
(BEYOND)

POURED CONCRETE

QR CONCRETE BLOCK

REQUIRED

OUNTING

’ LJ
s t0nr999it9"’



INSTALLATION DETAILS FOR OPTION #Z FOR LI

f—
v

—®

ve ST
j:ﬁji \ ! 1} S
o
1 wooD HEADER T~ WE 1 woop HEADER
- REQUIRED / \ k< 2~ REQUIRED
o 1/4"0 TAPCON @ 8" O.C. o 1/4"¢ TAPCON @ 6" 0.C.
W/1 1/2" MIN. THREADED W/1 1/2" MIN, THREADED
PENETRATION AT WOOD PENETRATION AT WOOD
HEADER \ HEADER
1/ 1/4" o 1/4"
/
1 : ' Max. .7 ™ Max.
L L
Pl P
| { {
o o
ONT. T,
) == T i
i [ o I |
@ @
! ! ‘ Min. SEPARATION ! i
: : | "o g:ﬁfgéNg» TO GLASS : I
L L" Max. = (SEE SCHEDULE -
1 lt : PANEL LENGTH ON SHEET 18) : | " Max
L | (SEE NOTE 1 BELOW) Lo -
EXISTING Win. SEPARATION L AN— LA (SEE? AS(%ELENSETOW)
et TO GLAS :
GLASS ~ =—(sgE scHEDULE ™™ | | i i " 1
ON_ SHEET 16) Lo 1/4%-20x1" | |
: } | 3.8, M.S. W/ :
| [ i 7/8"(5 X 3/32" }
| i | WING NUT |
Ar N— ‘
- |
|
|
{
!
i
|
i
|
|
i
i
|

CONT,

7/8" x 3/32" WING
NUT WASHER (BEYOND)

1/4" TAPCON @ 6" O.C.

{STAGGERED W/ STUD)
W/1 1/2" MIN. THREADED
PENETRATION AT MIDWIDTH
OF PLATE

2"x4" WOOD PLATE

REQUIRED

SCALE 3/8"=1"

[
|
N
i (: )
N |
=
~.
\ 3—(@A) con.
7/8"¢ % 3/32" WING NUT
WASHER @ 12 1/2' 0.C.
1/4"¢ TAPCON @ 6" 0.C.
N (STAGGERED W/ STUD)
g w/1 1/2" MIN., THREADED
! /\/ PENETRATION AT MIDWIDTH
OF PLATE
2"x4" WOOD PLATE
REQUIRED
SCALE 3/8"=1"
NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH AS.D. DESIGN LOADS
UP TO +55.5, —72.0 PSF AND PANEL'S LENGTH UP TO 8'-8",

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SQUTHERN
PINE NO. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

N\

Min, SEPARATION
TO GLASS

(SEE SCHEDULE

“. 4~ REQUIRED

WOOD HEADER

N

NN

NN

_.{ _WOOD HEADER
L "REQUIRED

1/4"¢ TAPCON @ 8" 0.C.

(SEE NOTE 1 BELOW)

|
[
ON SHEET 16) | 15 /;%ﬁ;ém;};
; 7/8% x 3/32"
| WING NUT
N— —
V—
L 1/4"0 TAPCON @
; ] 8" 0.C. W/1 t/2"
P MIN. THREADED
P PENETRATION AT
| ' MIDWIDTH OF PLATE
i !
GA l @
CONT. b
o
|
t
|
i

i 1/4" TAPCON @ 6" 0.C. / . >
W/1 1/2" MIN, THREADED W/1 1/2" MIN. THREADED
PENETRATION AT WOOD PENETRATION AT WOOD
HEADER HEADER
/4" % / ‘ j1/4"
Max. ,T ' Max,
| / ! |
|
| %
B |
NS == I,
| i
O @
i [
. I
| ] EXISTING _ vin.. gEg&RglON | ! |
{ ] " Max. GLASS — (SEE SCHEDULE | | | i
: PANEL LENGTH ON SHEET 16) ; 1| |
|
| |,
i
i
|
l
|

"L Max.
PANEL LENGTH
(SEE NOTE 1 BELOW)

)
I\ ! EQ.
} ) [}
1/4"9—20x3/4"S.S. M.S. W/ r—:%
7/8"x3/32" WING NUT T
WASHER @ 12 1/2" 0.C.
1/4"9 TAPCON @ &" 0.C.

W/1 1/2" MIN, THREADED
PENETRATION AT MIDWIDTH
OF PLATE

L

-

L

2"x4" WOOD PLATE

<&

°, K
? 3 /cwf ATU)@% .\‘i

5
Al ¢

DNAL

REQUIRED

SCALE 3/8"=1"

"x4" WOOD PLATE

L2
REQUIRED

\_1/4"8-20x3/4"S.S. M.S. W/
7/8"8x3/32" WING NUT
WASHER (BEYOND)

F1ORIDA BUILDING CODE (Migh Velocily Hurricane Zone
©2011 TLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ M.C.V./R.E./AG.
(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
: 12/05/11
/ E BL E ECO \ GLOBAL PROTECTION PRODUCTS, LLC. DATE:
fKe. 4800 SW. 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11-213
£355 N.W. 36th, St, Ste. 305, VIRGINA GARDENS, Fl. 33166 PHONE: {954)689-7545, FAX: (854)689-8797 ~
Phone : (308) 871~1530 . Fox : (305) 871-1551 DRAWING No:

EB~0008719
WALTER A TILLIT Jr., P.E.
FLORIDA Lic, ¥ 44167

REV. HNo OESCRIPTION BATE REV, Ha OCSCRIFTION DAVE

OLD 08~237 12/05/11 3 -

SHEET 19 OF 28

"/
“s52110058098" !



INSTALLATION DETAILS FOR OPTION % FOR LIFE SAFETY STORM PANEL SYSTEM

i

N

\ \
DO

N

N

N

NN

\\

N

WOOD HEADER
REQUIRED

Min. SEPARATION

1/4"s TAPCON @ 6" 0.C.
— W/1 1/2" MIN. THREADED
PENETRATION AT WOOD
HEADER

"L" Max.
PANEL LENGTH
(SEE NOTE 1 BELOW)

TO GLASS
™ (SEE SCHEDULE ™7
EXISTING ON SHEET 16)
GLASS
o\

i
EQ.
!

|

¢
EQ.
§

2"x4" WOQD_PLATE
REQUIRED

#14-10 PANELMATE PLUS
@ 6 1/4" 0.0. W/1 7/8"
MIN, THREADED PENETRATION
AT MIDWIDTH OF PLATE

SCALE 3/8"=1"

NOTES:

_ INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH A.S.D. DESIGN LOADS
UP TO  +55.5, —72.0 PSF AND PANEL'S LENGTH UP TO 8'-8",

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE NO. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

B L’E“ERNATNE BAW
REGULAR PANEL

7/8"% x 3/32" WING NUT
WASHER @ 8 1/4" 0.C.

(ISTING WOOD STRUCTURES

Zm T
JRNAWAL L
s _
/>< 5
g e 1 /4 ‘s TAPCON @ 6" 0.C.
% / /] 1/2" MIN. THREADED
d / PENETRATION AT WOOD
VB HEADER
/| 18
/ _@: i
/2" - i 1/4"
i Max.
WOOD HEADER " :
REQUIRED / j ,
/ . |
; & CONT.
A -
I | \
@
Min. SEPARATION : !
TO GLASS I 1
" (SEE SCHEDULE | | !
EXISTING _ ON SHEET 16} ! g ‘
BLASS J\/ i /\i/_ | "L" Max.
A ‘ — PANEL LENGTH
T 1
1 /46 -20x1" B j\lfd | (SEE NOTE 1 BELOW)
3.5, M.S. W/ AN L
7/8" x 3/32" \ Lo |
WING NUT I\ g
A 6)!
EQ.
¥
EQ
N
\ |
. ~ 7/8% x 3/32" WING NUT
2"x4" WOOD_PLATE
REQUIRED WASHER @ (BEYOND)
#14-10 PANELMATE PLUS
@ 6 1/4" 0.Cc. w/1 7/8
MIN. THREADED PENETRATION
AT MIDWIDTH OF PLATE

,un””,, v,
o A ? "
a‘* ’\Q‘ ié/ P SCALE 3/8"=1" £10RIDA BUILDING CODE (High Velocity Hurricane Zone
‘ ©2071 TLTECO, INC. LIFE SAFETY STORM PANEL SYSTEM™ M.C.V./RE./AC.
(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
. 12/05/11
ILIECO GLOBAL PROTECTION PRODUCTS, LLC. OATE:
X fReC. 4800 st 51 STREET
ING & ENGINEERING COMPANY DAVIE, FL. 33314 -
Ji%ﬁ’fw CgaiTsz Ste. JU'; w»?@mia ggﬂg\f Fl 33166 PHONE: (854)689-7545, FAX: (654)689-8797 11-213
o L3 PR .
Phane : (30%) 572515220;;7 g (308) 8777131 FEV. Mo QESCRIPTION OATE | REV. Ho DESCRIFION OATE DRAWING Noi
WALTER A, TILLIT Jr., P.E. ! o 08-237 _ (12/0s/11F 2 - = dsueer o0 oF 26

Sty SIGNATL J
Sf&/ A 5.

FLORIDA Lic. # 44167

4 -

”'ﬂz/wﬂ #7



GENERAL NOTES: VALID E—7 HANG STORM PANEL SYSTEM
8.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND PANELMATE FEMALE 1D & PANELMATE PLUS INTO CONCRETE

1. E—Z HANG STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.ED.) HAS BEEN VERIFIED FOR COMPLIANCE IN !
ACCORDANCE WITH THE 2010 EDITION OF THE FLORIDA BUILDING CODE. BLOCK SHALL BE 1 1/4".

B.2) MINIMUM EMBEDMENT OF 1/4% X 7/8" CALK—IN ANCHORS SHALL BE IS 7/8" INTC CONCRETE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,
NO EMBEDMENT INTO ANY FINISH MATERIAL SHALL BE PERMITTED.

FOR A WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THESE SHUTTERS WILL BE INSTALLED AND

FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2010 FBC AND SHALL 1/4" $-20 SS SIDEWALK BOLTS USED SHALL BE LONG ENOUGH(SHOULD ANY FINISH MATERIAL EXIST) TO

NOT EXCEED THE MAXIMUM (A.5.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 25 & 26. ENGAGE 3/4" INTO ANCHORS.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10

SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO B.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE

T0 COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 25 & 26.
SHALL BE AS MENTIONED IN B,1) AND IN B.2).

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.ED. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE

IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. FASTENERS SPACING TO WOOD HAS BEEN .
DETERMINED IN ACCORDANCE WITH N.D.S. 2005. (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER,
STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1626 OF T SUALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER
THE ABOVE MENTIONED CODE AS PER FENESTRATION TING LABORATORY, INC. R 2032, AS COLS TAS-201, 11. IT SHALL B NSIBILI N
TA3E-202 AND TAS—203. TION TES HORATOR EPORT # AS PROTO AS-20 iS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK
OR WOOD FRAME BUILDINGS.
5. THIS SYSTEM HAS BEEN DESIGNED TO BE INSTALLED ON THE OUTSIDE OF THE OPENING ACCESSING THE OPENING FROM THE
INSIDE W/0 THE USE OF A LADDER OR LIFT. THIS APPLICATION IS VALID WHEN INSTALLATION 1S INTENDED TO BE PERFORMED 12. THE INSTALLATION CONTRACTOR 1S TO SEAL/CAULK ALL SHUTIER COMPONENT EDGES WHICH REMAIN IN CONTINUQUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL

FROM THE INSIDE OF STRUCTURE.
LENGTH.

3. SERIES 1000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG STYLE WINDOWS WHEN INSTALLATION IS REQUIRED TO BE
PERFORMED FROM THE INSIDE OF STRUCTURE. 13. STORM PANEL INSTALLATION SHALL COMPLY WiTH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

4, SERIES 2000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG AND HORIZONTAL SLIDERS STYLE WINDOWS WHEN

INSTALLATION IS REQUIRED TO BE PERFORMED FROM THE INSIDE OF STRUCTURE. 14. ATRIUM WINDOWS AND DOORS, INC. E — Z HANG STORM PANEL SYSTEM™ |S PATENT PENDING.

15. (a) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER 1S GENERIC AND DOES NOT PROVIDE

5. ALL ALUMINUM EXTRUSIONS TO BE 6063-T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED .
' ( ) INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.
6. ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105-H14 ALLOY.
(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURGHASE AND INSTALLATION INCLUDING LIFE SAFETY OF
2 ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A-853 GRADE 50 Mir., GALVANIZED STEEL THIS PRODUCT BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON
THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

DESIGNATION W/Fy= 58.5 ksi (AFTER ROLLED).

8 ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN (¢) THIS PRODUCT EVALUATION DOCUMENT WiLL BE CONSIDERED INVALID IF MODIFIED.

50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4.

/ l / (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL

9. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AISI 304 SERIES STAINLESS STEEL, WITH 38 ksi MINIMUM YIELD STRENGTH. SECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
* Ut OF THE P.E.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.ED. ENGINEER, SHALL

10. ANCHORS TO WALL SHALL BE AS FOLLOWS: SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

TO_EXISTI URED :
(A) ISTING POURED_CONCRETE () THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF
RECORD  THAT PREPARED IT.

~ 1/4"g TAPCON ANCHORS AS MANUFACTURED BY LLT.W. BUILDEX, INC, (MIN. f'c=3192 p.s.i)

_ 174" 8 X 7/8" CALK—IN ANCHORS, AS MANUFACTURED BY POWERS FASTENERS INC. (MIN. f'¢=3000 p.s.i) 16, STORM PANEL MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL M
~ #14-10 PANELMATE FEMALE ID & PANELMATE PLUS ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS. ACCORDANGE WITH SECTION 1715.8.3 OF FLORIDA BULDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
PASELNG TO COMPLY WITH SECTION 1715.8.2 OF THE FLORIDA BUILDING CODE.

(f'e=3350 p.s.i)

A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" AND 2" FOR  PANELMATE
FEMALE 1D & PANELMATE PLUS.

A2) MINIMUM EMBEDMENT OF 1/4"s X 7/8" CALK—IN ANCHORS SHALL BE 1S 7/8" INTO CONCRETE. NO EMBEDMENT INTO

ANY FINISH MATERIAL SHALL BE PERMITTED.
1/4" $—-20 SS SIDEWALK BOLTS USED SHALL BE LONG ENQUGH(SHOULD ANY FINISH MATERIAL EXIST) TO ENGAGE 3/4"

INTO ANCHORS.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN . STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL

BE AS MENTINED IN A.1) AND IN A.2).

{(B) IO _EXISTING CONCRETE BLOCK WALL:

FLORIDA BUILDING CODE (High Velocity Hurricone Zone
©2008 TILTECO, INC. E-7 HANG STORM PANEL SYSTEM ™ M.C.V./R.E./AB.

(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:

— 1/4” ¢ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX, INC.
~ 1/4" 6 X 7/8" CALK—IN ANCHORS, AS MANUFACTURED BY POWERS FASTENERS INC. (fm=1500 p.s.i.)

— #14~10 PANELMATE FEMALE ID AND PANELMATE PLUS ANCHORS, AS MANUFACTURED BY ELCO CONSTRUCTION

PRODUCTS {(Fm=2071 p.s.i.) - ! 12,/08 /11
EE& %E o GLOBAL PROTECTION PRODUCTS, LLC. AT
: ING. 4800 SW. 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 -
6355 N:,;/. 36?}7 St Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (954)689-7545, FAX: (954)6B9~8797 11-213
Phone ; (305) 871~1530 . Fox : (305) 871~1531 DRAWING No:
EB~ 0096779 V. K BESCRIPTION DATE REV. Na DESCRIETION DATE
f) WALTER A. TLLIT Jr., P.E. : o 08-257  N2/08/11 3 - ZJ SHEET 21 OF 26
FLORIDA Lic. # 44187 2 - - 4 - -
-,

Ctropser ittt o



COMPONENTS FOR SERIES 2000 & 1000 E—Z

(SCALE 1/2=1")

-———2.591"
15.1968" (TOTAL WIDTH) i -2.250"
l 12.500" (EFFECTIVE WIDTH) T [ 0
i
! ey | W.500"
i >\> "
i < 4_.075
v A\Z\EO" i Typ
0.038" MIN, THICK i 3.500 .
GALVANIZED STEEL EDGE / s
ASTM A—G53 T~ R
GRADE 50 MINIMUM DETAIL A | \t
G860 GALV. T
i R 7 "'P
/\TJ \ 25 “2\5‘0..
f
250"
2.470"
= 89 89
REVERSED "h" TRACK
PANEL'S END LIP
.._..____...—.——————————\ L P
W,/ HEMMED EDGE. i 790 sor
I 250"
.81.3"
‘———7‘*/
125" A _111 25"
~
& 3.750"
’po
%
, A 5.000" N 2.000"
ROUNDED CORNER @ ENDS OF PANEL'S 125"
END LIP W/ HEMMED EDGE. ' { 750" .
(N.T.5) o 123
] 250"
—'2-000"—J (Typ.) 5" Moax
1 1/4" WIDE
B0B1~T6 Alurmn. ALLOY
750" .055" (Typ.)
] ot é,’}‘fffiilgﬁ.ﬁrﬁ
FLORIDA BUILDING CODE (High Velocity Hurricane Zone)
720 2011 TRTECO, HC: 20 GAGE GALVANIZED STEEL STORM PANEL | MGu/me/he
12/05/11
= E E GCLOBAL PROTECTION PRODUCTS, LLC. DATE:
STOP BAR gm E@ ©Q 1sc. 4800 SW. 51 STREET
¥ LONG TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314
"L £355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fi, 33166 PHONE: (954)689-7545, FAX: (954)689-8797 11-21 3
6083~T5 Alum. ALLOY Phone : (305) 871=1530 . Fax : (305) 871-1531 . DRAWING No:
EB—00067 19 REV. No DESCRIPTION DATE A2V, He DESCRIFTION BATE .
WALTER A, TRLIT Jr., P.E. oD 08-237  H2/08/1% 3 - d
FLORIDA Lic. # 4;767 2, ~ - 4 - - SHEET 22 OF 28
CEIei g TN




3' /24 | (8) (SEE NOTE 2 BELOW)

¥/ OR W/0 @

#14x1" SMS. /24 4'/24/p {8) (SEE NOTE 2 BELOW)
@ EACH END . FOR CONCRETE ANCHORS: SEE ”
oF r'3 SCHEDULE ON SHEET 25; FOR WOOD SCREW: 3
Max. ] [ SEE SECTIONS ON SHEET 26 / o, | i
—— ' 1° Min] PER_PANEL
e W

)

1/ = b= : 1 L = —1/2'
| 3 g 3 3 g S ¢ 3 3 S H
. A
T YT T T T T T T T T T WIIIIT’) 60 % ‘L’
(END PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (END PANEL)
SEE NOTE 2, 3, 4 BELOW SEE NOTE 2, 3, 4 BELOW
_.,VJD* w'@ ® M—-@) * _w-.{_‘i: ® *
® L) [ © gt |
=~ BOLTED PANELS W/
1/4"8-20x3/4" M.S. W/
é/% xsésg' X'IFNGNUTS
L] A, OVERL
A v 40 % L
__/\/, \ I\ —
o DK ssﬁﬁ -]
o Q [~} < o o o o ©
foan ] SEE NQTE 4 BELOW ™7 |SEE NOTE 3|__ 3”«4
Max. FOR CONCRETE ANCHORS: SEE BELOW Max
1" Min SCHEDULQE:: ON SHEETSQg; _FSR WOOD SCREW: et 7
' ) EE SECTIONS ON SHEET 26 :
SN2 LD R @ W R W) "
L/;SET PANEL TO BE INSTALLED AT E?CH
: M ESO = OPENING SHALL ALWAYS BE PROVIDED W
o LS d _ REAR HANDLE TO FACILITATE INSTALLATION
7 HANG STORM = ANEL @ SYSTEM IF INTENDED TO BE INSTALLED FROM
L BERIRNY b b WA B R 1213 s Lsed 8 B lYt, INSIDE OF STRUCTURE.
SCALE 3/32° = 1°

- 1/4" Maox. GAP

ﬁf” /4" Max. GAR
S
L

IV AVAVWAVWAVAYAVAVAY AN
®/ %@w/ OR W/0 ,

T SCALE 3/32° = 1"

NOTES

(1). DEFINITION OF SERIES 2000: E ~ Z HANG STORM PANEL SYSTEM CONSISTING OF PANEL +

Cont. TRACKS TOP & BOTTOM.

(2). END PANELS SHALL ALWAYS BE CONNECTED TO BOTTOM TRACK OTHERWISE A STOP BAR
SHALL BE PROVIDED AT TOP OF SUCH PANELS.

IF END PANELS ARE CONNECTED TO BOTTOM TRACK, CONNECTION SHALL CONSIST OF
1 /4"0-20x3/4" M.S. W/ 7/8"0x3/32" WING NUT OR 1/4"9x3/4" Min. THUMBSCREW
INTO TAPPED BOTTOM TRACK. LOCATION OF FASTENERS MAY BE AT EITHER OF TWO
EXTERIOR FLAT FLANGES OF END PANEL.

IN CASE THAT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK (i.e. A STOP BAR
IS ONLY USED AT TOP) AT LEAST TWO PANELS SHALL BE CONNECTED TO BOTTOM TRACK
USING SPECS INDICATED ON NOTE {3) ABOVE. IN SUCH CASE, CONNECTION OF PANELS
TO BOTTOM TRACK MAY OCCUR AT ANY PANEL LOCATION.

(5). SEE SECTION 1, 3' & 4' ON SHEET 24. SEE ANCHOR SCHEDULE ON SHEET 25.

(3).

(4).

~? N .
20 yax, 2 /24P 1 /24 | @PE‘%‘ el r‘ (SEE NOTE" 3 BELOW)
17 Min, CONCRETE ANCHORS (Typ.) 3" Max.
T (SEE SCHEDULE ON SHEET 25) ‘ \ / 1" Min.
f14x1” SMS. @
- o a S N ] . O/EACH END OF @
Q 2
1/2" i T C = = 1/2"
] o 5 ) (<] o 3] [ [} [} o T
1< ] k1 ] 2] o o] e || o]
N |
B 60 % "L*
T T T T l'\Fl T 11 [ [ L A L L AL T 7T [ | T 1 L
(END PANEL) (INTERIOR PANEL)| | (INTERIOR PANEL)| | (INTERIOR PANEL) (END PANEL)I ]
SEE NOTE 2, 3, 4 BELOW| |SEE NOTE 4 BELO ,sl ‘ SEE NOTE 2, 3, 4 BELOW
] v
ol 3 3
& @ ot D ot Ao}
) * ° * - BOLTED PANELS W/ »
1/4"0-20x3/4" M.S. W/
7/8"%x3/32" WINGNUTS
| l@ EA. OVERLAP
o /\/7 /. . wyoF
— A " - 40 % ‘L
-] o ] Q.
- o [ o y 2 L _PANELMATE (Typ.)
" I '
2 - \—(2) (ALTERNATE_LOCATION
MAY BE LOCATED " . ND PANE]
AT END OR 1 1/2 11/2 AT E Ls)
INTERIOR PANELS 15"

%{.—\/4" Max. GAP
RONSSAANNN

# | asT PANEL (D TO BE INSTALLED AT EACH
OPENING SHALL ALWAYS BE PROVIDED W/
REAR HANDLE TO FACILITATE INSTALLATION
IF INTENDED TO BE INSTALLED FROM
INSIDE OF STRUCTURE.

1/4% Mox. GAP -

o=

NOTES :

(1). DEFINITION OF SERIES 1000: E

AN
R

(ALTERNATE LOCATION
AT END PANELS)

— 7 HANG STORM PANEL SYSTEM CONSISTING OF PANEL +

(2). END PANELS SHA
PANELMATES OR,

SHALL BE CONNECTED TO
WING NUT OR 1/4"9—20x3
DESCRIBED ON NOTE (3) BELOW).

(3).

SHALL BE PR

FOR INSTALLATIONS WHEN END

(4).

FOR CASES WHEN END PANELS
QOTTOM BUT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK
OVIDED AT TOP OF SUCH PANELS.

Cont. TRACKS AT TOP & PANELMATE PLUS OR 15" LONG
(2)AT BOTTOM W/ PANELMATES.

LL ALWAYS BE CONNECTED TO EXISTING SILL WALL BY MEANS OF
IF USED JOINTLY W/ 15" LONG

TRACK AT BOTTOM, END PANELS
S. W/ 7/878x3/32"

(2) (EXCEPT AS
5" LONG TRACK

@A) AT
(2), K STOP BAR

PANELS AND SOME INTERIOR PANELS ARE DIRECTLY

W/ 1/4"8~20x3/4"
" Min. THUMBSCREW INTO TAPPED

ARE USE JOINTLY W/ 1

MOUNTED TO EXISTING SILL WALL BY_ MEANS OF PANELMATES, ONE INTERIOR PANEL

MAY BE USED JOINTLY W/ TRACK
W/ TWO PANELMATES FOLLOWING SPACING SHOWN ON ELEVATION AND Wi/
Min. EDGE DISTANCE. FOR THIS CASE, INTERIOR PANEL

NOT NEED TO BE CONNECTED TO
r’?W}‘z‘r%&},ADJACENT PANELS (TQ
§

o

IF&P*{-@EE‘K@{»‘RETNNED By @)

AT BOTTOM ATTACHING BOTTOM TRACK TO/WALL
3 1/2"
USED JOINTLY W/ DOES

BY ANY MEANS. TRACK (29 SHALL BE INSTALLED
E LEFT & RIGHT SIDE OF INTERIOR PANEL) HAVE

'
U 1 A . . .
G T Ly FLORIDA BUILDING CODE (High Velocity Hurricane Zone
0 . %
R \)QtNS€ Y ©2008 TLTECO, INC. £_7 HANG STORM PANEL SYSTEM ™ | MOY./RE/AG
\\‘ OO (26 CAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
3 12
. : » /08/11
3 EE& EE co GLOBAL PROTECTION PRODUCTS, LLC| o
N iNC. 4800 S.W, 51 STREET
& TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11=213
A 6355 N.W. Joth St, Ste, 305, VIRGINIA GARDENS, Fl. 33168 PHONE: (854)689~7545, FAX: (854)689-8797 b
- Phone ; (303) 871-1530 - Tox + (303) E71171 £V, No DESCRIPTION 04T€ | RaV. Ho DESCRIPTON DATE DRAWING No:
= : A ¥ EB-0006719 : '
>, /ﬁgﬁié'f‘ﬁ/ﬂwmmﬁ r WALTER A. TLLIT Jr., P.E. : oD cg-zs__ljos/il 3 = — e 23 OF 26
e &lﬁégh\ ] FLORIDA Lic. # 44167 2 - - ‘ - -
- 14 S

", v v
“Irvsa908508F f




INSTALLATION DETAILS FOR

PANEL (1) INTO_POURED CONCR

e

POURED CONCRETE

REQUIRED <
CONCRETE_ANCHORS

(SEE SCHEDULE
ON SHEET 25)

CONCRETE ANCHORS \
(SEE SCHEDULE ON : ‘ Cont.
SHEET 25)_\ N
B N o
; H - 1431 SMS. @
N a | / é‘A TN oF @
™ 8
POURED -
4 \ Lo
REQUI S
a J N T | (see pETAL 1 &
ui NN NOTE 1 BELOW)
) e
sy =
NN N 5

T

o —

A
I\,.i

SEE SCHEDULE

-
<

= g

~~.500"

1.000"

SEE SCHEDULE

"L” Mox. PANEL LENGTH (SEE SCHEDULE ON SHEET 25)—7m———

i § W S\ § S |

E SCHEDUL N
ON SHEET 25) £D. U
POURED CONCRETE 1 \\\
REQUIRED § Q —£0 NN
AN Y

SERIES 2000 AND 1000 E-7 HANG STORM

1/4"6-20x3/4"

TRUSS HEAD M.S.
W/ WING NUT @
MIDWIDTH OF

-EVERY (D) (Tye.)

-3/16" Alum, POP

QF EVERY

(Typ.)

i
|
|
i
|
|
|
|
|
|
RIVET @ MIDWIDTH :
|
|
|
|
|
|
|
1

&
oS
; &
bad
| &
| S
omF g:E&T 25 i ON SHEET 25 o
din, 1 g " FOR Min, == " w2
i 1/4"8—20x3 /4 . 1/4%0—20x3/4 5
| S%:‘Ag]_fgéosf\f i M. SCREW W/ | SEPARATION M. SCREW W/ &
| : ! 7/8"8x3/32 TO GLASS. 7/8"4x3/32' T
| | WING NUT @ ! WING NUT @ 3
| ! LEVERY OVERLAP ! LEVERY OVERLAP "
| T
| Wy | | 5
| i ’ [ Z
| ‘ | 28 | . -
! A— AL g° * A 3
) &
T VT — :
2 - s
| || & B e |
| : & e |
V7 ./, 1l =25 ® ) . :
7 // g // : I er o / / & '
//’/ i g g ¥ % 7, e
POURED - 7 I == / ' e
CONCR . L & POURED \
CONCRETE a Z { S‘NE‘.’\ CONCRETE OR 3
s 5/ || g 7
S LOCK
?/ / REQUIRED Z_l
. S, pnper, = 7
1/4"9-20x3/4" M.S.
=17 W/ 7/8"#x3/32" WING ON SHEET 25) T_/
NUT OR 1/4°8-20x3/4" EQ EQ R
THUMBSCREW (SEE ol /
CONCRETE ANCHORS g NOTE 1 BELOW) l g
(SEE SCHEDULE 7 ;
ON SHEET 25) @ l
SECTION 1~ — | O SCALE 3/8=1"
SCALE 3/8=1"
(2)#10){3/4" NOTE 1@
1 SM.S. TO © SEE SPECIFICATIONS AND REQUIREMENTS FOR
i USE OF STOR BAR (B) AT TOP AS wa. AS
= B PANEL CONNECTIBN TG TRACKS OR
: Z ¢ OF PANEL = ¢ OF AT BOTTOM, BASED ON 1000 OR 2000
! e SERIES INSTALLATION TYPE ON SHEET 23.
e e (2)#10x3 /4
SMS. 0 @ NOTE_FOR_COMBINATION OF SECTIONS:
T — | O TOP & BOTTOM MOUNTINGS CAN BE

A

DETAIL 1

SCALE: 1/

2» = 1:;

COMBINED IN ANY WAY TQ SUIT ANY
INSTALLATION.

£.D.

= EDGE DISTANCE

(SEE SCHEDULE ON

SHEET 28)

e Cont.

1/4"p-20x3/4"

M.S. W/ 7/8"X3/42
WING NUT @ 12" 0.C.

] "—.—l

AN

Tl

/ :

—

—®

L
)

Fiax)" SMS.
fm. END OF

(SEE DETAL | &
NOTE 1 BELOW)

@ Cant.

I

A,

T

L

I\/

TO GLASS.

SEE SCHEDULE
ON SHEET 25 |
FOR Min. SEPARATION

\

M. SCREW W/
7/8"0%3/32"
WING NUT @
EVERY OVERLAP

L1 /462043 /4"

I

{1/4"0~20x3/4" M.S.

W/

!NUT @ 12" 0.C.

|
[eX

7/8"x3/32" WING

x 3" Max.)

|
: @ Cont.
|

|

|
|
|
[
|
i
{
|
!
|

[ 500"
bin,

1/2" Max FOR SERIES 2000
3/18" Mox. FOR SERIES 1000

40 % "L"

ANCHORS N i
%é’é‘é%?fm’dm \ N ¢, comt. 1/4"6-20x3/4" M.S.
Wy 7/8%3/32"
ON SHEET 22) N - WiNG NUT @ 12" 0.C.
N Q N
FOURED GONCRETE NN /_g‘tgalrsosbﬁés'@
REQUIRED ‘ NN J
T = i
‘\\\ ' T T :‘,
o SEE DETAL 1 &
@g} N - | o Y seLow
; |-
\ “ \ l T
Lt N
1t |
\ * ks
i |
\\\\\\ \\\ N { D B
| | —
! I
| L —®
|
TV, PR el A\ el
A %

"™ Mox. PANEL LENGTH
(SEE SCHEDULE ON SHEET 25)

SEE SCHEDULE
ON SHEET 25 __|
™ FOR Min. SEPARATION

TO GLASS.

!
!
|
|
|
|
|

1/4"8-20x3/4"
M. SCREW W/
7/B"8x3/32"
WING NUT @
+EVERY OVERLAP

CONCRETE
REQUIRED

|

] g
7 ///[, 7
FOURED Q

CONCRETE ANCHORS

i t
7z /// L1/4"¢-20x3/4" M.,
f W/ 7/8"x3/32" WING
EQert / NUT OR 1/4"¢-20x3/4"
THUMBSCREW (SEE
NOTE 1 BELOW)
e EDGE OF
WALL OR SLAB
£.D. {Alt, CONDITION)

(SEE SCHEDULE
ON SHEET 25)

"L" Max. PANEL LENGTH (SEE SCHEDULE ON SHEET L) e AR

|
|
|
|
1
o
L 88
A — -
™\ e
| zE
| Lo &
| & e
o
. ' ; o
s y . <
7y 7 / gé
b
/ o
a =N
i [
QURED 7 ] =]
oNeRETE °F 7 \_ \—_j-— /4"0-2043/4"
N 1/4"8—2053/4
REQUIRED ] s win— i Y o
/ 2 f 2ox3/ 1/4"9-20x3/4"
: 1/4"9—20x3/4" THUMBSCREW (SEE
((:ggrzc%%ﬁssgfg or M.S. W/7/8°%3/32" NOTE 1 BELOW)
ON’ SHEET 25) 7 @ HING N
Cont.

SECTION 3’
SCALE 3/8=1" SCALE 3/8=1"

s s:g’f&'l’fﬁ’f;ﬁf )

GAERA T £1ORIDA BUILDING CODE (High Velocity Hurricane Zone)
| ©2008 TILTECO, INC. E—7 HANG STORM PANEL SYSTEM ™ M.C.V./RE./AG.
\\‘ (20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN EY:

N
g s 3 : , 12/08/11
] ~3 % T EE co \ GLOBAL PROTECTION PROBUCTS, LLC. AT
R $ - iNc. 4800 S, 51, STREET
DAVIE, FL.
R TEOF & oLkl TEST WG 52?%2‘55?%&?’2? s PHONE: (954)680-7545, FAX: (954)689-8797 11-213
R WY & @ Phone '+ (305) 871~1530 . Fox : (305) 871-1531 DRAWING No:
- W EB-0006719 V. Mo BESCRIPTION DATE | REV, No DESCRIPION DATE
= .l VURE/d \) ALTER A, THUT Jr., P.E. oD 08237 Dz/os/1] 3 = -
K _, '”'n\é&"‘ WFLO@QBLJQ} 44167 : - - ‘ - ~—! SHEET 24 OF 26
< oW ”‘v



A§E DESIGN PRESSURE RATING (p.s.f.) AND

PANEL LENGTH "L” SCHEDULE

FQ% SEREES E@@@/Z@@@ E—7 HANG STORM PANEL (D SYSTEM

(VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1" THRU 4', SHEET 24).

A.S.D. DESIGN PRESSURE RATING (p.s.f

§.) AND CORRESPONDING MA

SPACING SCHEDULE FOR INSTALLATIONS [NTQ CONCRETE & CONCRETE BLOCK $TRUCTLSRESQ

FAXIRLR

E.

(VALID_ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS

1’ THRU 4', SHEET 24).

D. = EDGE DISTANCE

MAXIMUM A.S.D. Max. PA X ¥ - " :
DEANG. PRESSURE ax. RANEL LENGTH 1 yiNihiuM SEPARATION PANEL APPLICABLE TO Asb BESlon MAXIVUM ANCHORS SPACING FOR €. 0. = 3 1/2 © e &
RATING (p.s.f.) (SEE SE Tibns) TO GLASS CONDITION SECTIONS PRESSURE TAPCONS CALK~IN PANELMATE FEMALE 1D PANELMATE PLUS ANY COMBINATION MAXIMUM PANEL
RATING TG CONCRETE TO CONCRETE T6 CONGRETE O CONGRETE OF THEM LENGTH "L" (in.)
+66.0. ~75.3 20" OR LESS 2 9/18" BOLTED * 1,2, 3, 1w, (p.5.f.) 1o concrere |10 EPNCEET 170 CONCRETE | = giocic ro concreTe |10 SO0GeT | TO CONCRETE | ™ g aoic
2°W & 3"W
12" N/A 12" N/A 12" N/A 12" N/A 1" & 2' (TOP
+66.0, ~75.3 70" OR LESS 2 7/8" BOLTED * 4 & 4'W / / / / : (ToP)
" " » » » " 1 " 1 (BOTTOM)
: p ' 31/2 10 3 5 5 5 5 SERIES 2000 +
« 3%6% E\g/Fé (/2/)31 aao%%i{db Ss. Er:\ALS & WINGNUT AT OVERLAP & 40% OF PANEL LENGTH T (BOTTOM
12 51/2 12 5 8 7.1/2 8 7 1/2" | SERiES 1000 4+
N/A N/A N/A N/A N/A N/A 12 172" |12 1/2" 2" (BOTTOM) )
+66.0, —75.3 70" OR LESS
7" N/A 6 1/2" N/A 4 1/2" N/A 4 1/2" N/A 3' (TOP)
12" N/A 12" N/A 9 1/2" N/A 9 1/2" N/A 3 (BOTTOM)
12" N/A 12" N/A 12" N/A 12" N/A 4' {TOP)
12" 8" 12" g 1/2" 12" 12" 12" 12" 4" (BOTTOM)
IO
|
ASEE SHEET 26 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD 4 REQUIRES Max. DISTANCE BETWEEN BOTTOM OF PANEL H
FRAME BUILDING. AND (D To BE: 1/2" 1/2
MINIMUM ANCHOR SPACINGS AND MINIMUM EDGE DISTANCE ARE INDICATED ON THIS } Mox.
GCHEDULE. FOR E.D. LESS THAN INDICATED ON SCHEDULE REDUCE ANCHOR SPACING U_@
BY MULTIPLYING SPACING SHOWN ON SCHEDULE BY THE FOLLOWING FACTORS. FOR :
THIS OPERATION TO BE POSSIBLE, REDUCED SPACING OBTAINED USING FACTOR SHALL
NOT BE LESS THAN MINIMUM SPAGING INDICATED FOR EACH ANCHOR TYPE AT O
ANCHORS LEGEND. Ik
|
. 1/4" 1/4" 1/4" 1/4" REQUIRES Max. DISTANCE BETWEEN BOTTOM OF PANEL
ANCHOR TYPE rAp/cc: F-ANn/aLMATE PANéLM:TE GA;_,: S AD (D TO BE: 3/16" LA ds1e
FEMALE 10 FLUS 1 May.
Min. ANGHOR SPACING {in.) 3 3 3 2 1/2 L@ !
B EDGE DISTANCE |{Concrete (in.) 3 3 3 3
(ED. Min) I crete Block (in.) 3 31/2 31/2 4
ACTUAL ED. (EDGE DISTANCE) FACTOR
11/2" 35 - - -
2 1/2" - - - 50
1.00 - 1.00 83
3 1/2" - 1.00 - 1.00
&’iglllll{;,,’
gil B l’i_( ﬂ""’.. ,
\, 7= FLORIDA BUILDING CODE (High Velocity Hurricane Zone
©2008 TILTECO, INC. E—7 HANG STORM PANEL SYSTEM ™ M.C.V./R.E./AG.
(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
= ) 12/65/11
/ M \ GLOBAL PROTECTION PRODUCTS, LLC| "
b : IRC. 4800 S.W. 5t STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 11_713
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (854)689-7545, FAX: (954)689~8797 =
Fhane : (30%) az—szfg%m;;};g: (s05) 871-1531 RV, N QESCRIPTION DATE | BEV. Mo BESGRIFTION OATE DRAWING Not
WALTER A TRLIT Jr, P.E. 0 X L - —— SHEET 25 OF 26

FLORIDA Lic. # 44167
R

’:’ (T ’ #”



INSTALLATION DETAI

LS FOR _SERIES 2000 & 1000 E—-Z HANG STOR

e

AL \‘ 1/4"8 LAG SCREWS @ 6" 0.C. W/

4 ~ 1 1/2" Min. THREADED PENETRATION
7 5 10 EXISTING WOOD HEADER,

¥ .

£14x1" SMS.

4} Cont.
@ £A END OF @)

&)

'q
(SEE DETAIL 1/24 &
NOTE 1A BELOW)

.
ot
*‘(‘g

Max. PANEL LENGTH (SEE NOTE 1 BELOW)—

WQOD HEADER

REQUIRED
N y—
;-

2 /16" Min.
— SEPARATION =
TO GLASS.

1/4"0~20%3/4"

M.S. W/7/8"x3/32"
WING NUT @

EVERY OVERLAP

N

E

1/4" LAG SCREWS @ 6" 0.C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER,

4) Cont.  #14x1" SMS.

/—@ EA. END OF @

1/4"0-20x3/4" TRUSS
HEAD M.S. W/ 7/8"0x3/32"
WING NUT @ MIDWITH

- OF EVERY &) (Typ.)

j:"‘\\_ "
i -3/16" Alum. POP RIVET
3
T

@ MIDWIDTH OF EVERY
(Typ.)

2 9/16" Min. 1/4"9-20x3/4"
Ol M.S. W/
TO GLASS. 7/8"8x3/32"

|
i
|
/-lwmc NUT @

i
l
|
-~ SEPARATION ~|
|
| EVERY OVERLAP

"L” Mox. PANEL LENGTH (SEE NOTE 1 BELOW)

%% e ‘
8 =
| | gs
g2
| | N
I -
§ 0 B | »
| & =5 : L g
| 8 &% ¢ 1 1
= ‘
| 3 \
T oak 2] | (i l
< G
! I 2] | i\
a4 e ‘
o  4"6-20x3 /4" MS. W i 1/4"0 PANELMATE FEMALE ID
g 2) 7/8%x3/32" WING NU OR_PANELMATE PLUS W/
oR 1 é4 %-20x3/4" i 7/8" Min. THREADED
THUMBSCREW (SEE NOTE 1A BELOW) - *, PENETRATION®@ 12 1/2" O.C.
1/4" LAG SCREWS @ 6" 0.C. W/ Min, (2) 2"x4"
i°1/2" Min. THREADED PENETRATION @ “TWOOD PLATE REQUIRED
MIDWIDTH OF PLATE AT SERIES 2000 OR FLAT OR ON EDGE
(2) #14~10 PANELMATE PLUS W/
i 7/8" Min, PENETRATION @ 12" @ WALL MOUNTING
SERIES 1000 INSTALLATION
Min, (2) 2'x4” el Ol 3
WALL WOOD PLATE REQUIRED ATH
ifa) 2 FLAT OR ON EDGE
p— 99
ALTERNATIVE 1 W
SCALE 1/4"=1"
NOTES: ]
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH AS.D. DESIGN LOADS ]
UP TO +66.0, —75.3 pst AND PANEL'S LENGTH UP TO 5'-10". g N
5 FOR NEW WOOD FRAME CONSTRUCTION: WQOD MEMBERS TO BE SOUTHERN g —
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.
NOTE_1A:

SEE SPECIFICATIONS AND REQUIREMENTS FOR USE OF STOP BAR (B)
WELL AS PANEL (1) CONNECTION TO TRACKS OR
1000 OR 2000 SERIES INSTALLATION TYPE ON SHEET 23.

AT TOP AS
AT BOTTOM, BASED ON

M. SCREW W
7/8"6x3/32'
WING NUT @
12" 0.C.

o

2 9/16" Mi
TO GLASS.

1/4"9—20x3/4"

toem SEPARATION =]

9-20x3/4" M.S.
W/ 7/8%x3/32"
W ur

4 Cont,

(3) Min. 2"x4" WOOD
HEADER REQUIRED
FLAT OR ON EDGE

: 1/4" LAG SCREWS @ 5" 0.C. W/
BT 1/2" Min, THREADED PENETRATION
TO EXISTING WOOD HEADER.

B14x1" SMS.
@ EA. END OF

(SEE DETAIL 1/24 &
NOTE 1A BELOW)

n

1

1/4"0~20x3/4"
I M. SCREW W
| 7/8%8x3 /32"
WING NUT @
EVERY QVERLAP

" iin.
l..1/2" WMax FOR SERIES 2000
3/18” Max. FOR SERIES 1000

0 % "L"

"1* Max. PANEL LENGTH (SEE NOTE 1 BELOW}———r!

Min. 2"x4" WOOD

EQ EQ

1/4"9-20x3/4" M.S. W
7;8"%3‘/32"/ WING"N\H/

oR 1é4 8-20x%
THUMBSCREW (SEE NOTE 1A BELOW)

“-1/4"6 1AG SCREWS @ 6" 0.C. W/
171/2" Min. THREADED PENETRATION

PLATE REQUIRED FLAT

M PANEL @D

1/4"¢ LAG SCREWS @ 8" 0.C. W/
1 1/2" Min, THREADED PENETRATION

—N

ur @ 12" 0.C.

(SEE DETAIL

NOTE 1A BELOW

WOOD HEADER REQUIRED
Ty - .
PRI S ‘ T
| I
2 7/8" Min. |
e SEPARATION g
TO GLASS. 1/4"9-20x3/4"
|/ screw W/
| | 7/8"8x3/32"
: | WiNG NUT @
%ﬁ EVERY OVERLAP
[
| | 83
| 8
1%
s/ g p— — v
g ge F
| sow® 3
| g o2 o
Cont. n . k4
| o1 55
ST i 4 28
N | ™

Min., (2) 2"x4"
WOOD PLATE REQUIRED
FLAT OR ON EDGE

Cont.

NUT OR

L W/ 778"

7O EXISTING WOOD HEADER.
1/4"6~20x3/4" .S,
W/ 7/8"x3/32" WING

H14x1" SMS.
@ EA. END OF B

1/24 &

L™ Mox. PANEL LENGTH (SEE NOTE 1 BELOW)

] 1 /4"0-20x3/4" MS.

4x3/32" WING
1/4"9~20x3/4"

THUMBSCREW (SEE
NOTE 1A BELOW)

1 /4"8-20x3/4" M.S. W/ 7/8"9x3/32"
wWiNG NUT @ 12" 0.C.

—1 /4" LAG SCREWS @ 8" 0.c. W/
17 1/2" Min. THREADED PENETRATION
@ MIDWIDTH OF PLATE

FLORIDA BUILDING CODE (High Velocity Hurricane Zone

WoOD HEADER
REQUIRED

NOTE_FOR COMBINATION QF SECTIONS:

TOP & BOTTOM MOUNTINGS CAN BE COMBINED IN ANY
WAY TO SUIT ANY INSTALLATION.

ALTERNATIVE TOP HEADER WOOD FRAME

SCALE: 1/4" = 17
NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY

©2008 TILTECO, INC.

-7 HANG STORM PANEL SYSTEM ™

M.C.V./R.E./AG.

FLORIDA Lic. # 44167

(20 GAGE GALVANIZED STEEL STORM PANEL) DRAWN BY:
‘ X 1 12/05/11
%5 L E ECO CLOBAL PROTECTION PRODUCTS, LLC. DATE:
iRC. 4800 S.W. 51 STREET
TILLIT TESTING & ENGINEERING COMPANY DAVEE, FL. 33314 11-213
£.355 N.W. J6th, St Ste. 305, VIRGINIA GARDENS, Fi J3166 PHONE: (954)689-7545, FAX: (954)689-8797
Phone : (305) 871-1830 . Fox : (305) 871-1331 DRAWING No:
EE—OOG6779 REV. No DESCRIPTION DATE REV, He DESCRIFTION DATE -
WALTER A, TILLIT Jr., P.E. ! op 08-257  J12/05/14 3 - —— SHEET 26 OF 26

2 -

4




